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DDD pOD  CCC LLL
0DD 00D  CCC LLL
DDD pDD CCC LLL
DDD 00D CCC LLL
DDD 00D  CCC LLL
DDD pDD  CCC LLL
DDD ooD  CCC LLL
DDD oD CCC LLL
0DD ooD  CCC LLL
DDD poD  CCC LLL
00D poD  CCC LLL
0DD poD  CCC LLL
DDD pOD CCC LLL
DDD oop  CCC LLL
0ODDDDDDDDDD CCCCCCCCCCCC  LLLLLLLLLLLLLLL
OODDDDDDDDDD CCCCCCCCCCCC  LLLLLLLLLLLLLLL
oODDDODDDDDDD CCCCCCCCCCCC  LLLLLLLLLLLLLLL
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: 1 01 MODULE rpclint C(IDENT='v04-000"'

: i i DDRESSING_HODE(NONEITEﬁNAL*LONG RELATIVE,

; L Z EXTERNAL=GENERALY) =

g 005 1 BEGIN

o} 007 1

E 3 0888 } g't.'t""t'tititiit't'ttiitt"tt't"."tt't""""'t."t't'"Q"i""'t""

S e . .
: W 0010 1 !+ COPYRIGHT (c) 1978, 1980, 1982, 1984 BY * :
PN 0011 1 i= DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS. . |
: }i 8 }i } E: ALL RIGHTS RESERVED. * '
- : a .
;14 0014 1 !+ THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY BE USED AND COPIED + !
: 12 0015 1 !+ ONLY IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE AND WITH THE «

: 1? 0019 1 ! INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER + *
Ry 0017 1 !+ COPIES THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY + '
: 18 0018 1 !+ OTHER PERSON. NO TITLE TO AND OWNERSHIP OF THE SOFTWARE IS HEREBY + z
3 %g 8818 } 5- TRANSFERRED. W A
H A #

: 51 0021 1 !+ THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE WITHOUT NOTICE « |
: g 00 i 1 !+ AND SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT * i
: 2‘ 88 Z } 5' CORPORATION. * i
H .® W

H 12’5 00%5 1 !* DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF ITS * :
: 26 0056 1 !* SOFTWARE ON EQUIPMENT WHICH IS NOT SUPPLIED BY DIGITAL. *

! 0058 1 is - |
; 8 88;3 } g'tt"t"l'ttt't!'t.tt'tttt'tt't'"t't!t'tt‘t.'ttt'ittttt'ttttttttttttttttttt f
EOEn 1
E % 88%% } g FACILITY: Command lLanguage interface routines ;
: 2 8832 ] | ABSTRACT: |
3 ! l
: 7 00%7 1! These routines are used to enable a newly activated |
3 ga 0038 1! image to obtain the command parameters and qualifiers t
: ‘3 8828 } ; from the command language interpreter. §
; 41 0041 1 { ENVIRONMENT : |
% 25 082‘ } g VAX/VMS operating system. unprivileged user mode, |
E 22 8825 } g AUTHOR: Tim Halvorsen, Mar 1980

i 47 §822 1 | Moditied by:

P49 0049 1 i vV03-015 HWS0073 Harold Schultz 12-Jun=-1984

: 20 050 1! When error encountered, always return an error code

: 2N 31 1! rather than a 0. When a syntax error is signaled, output

: Si Si 1! secondary error message o entitz not found (ENTNF).

i B 053 1! Put t,n?th check back into FIND_ENTITY optimization (undo

: gg 82; } ; HWS0070

: 3 3 1 i v03-014 HWS0070 Warold Schultz 29-May-1984

3 9 0057 1! Don't check for Length in FIND_ENTITY optimization.
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1 -503-19 4 ?8:?2:;9 DISKSVHSHASIER:[DCL.SRC‘RPCLINT.832:1 . (1)
v03-013 HWS0028 Harold Schultz 12-Mar-1984
Optimize FIND_ENTITY and UPCASE.
v 2=012 PCGO022 Peter George 09-Feb-1984
Fix bug in default keyword processing.
v03-011 PCG0O21 Peter Goor'o 27=Jul=1983
Look past first instance of a keyword.
v03-010 PCG0020 Peter George 29=Jun=-1983
Use event flags more intel 1gontl;.
Use multi-national upcase algorithm.
v03-009 PCGOO19 Peter George 20-Apr-1983
Add explicit check for dispatch routine address of zero.
v03-008 PCGOO18 Peter George 17=-Feb=1983

Convert to new table structure.
Use PTR_B_NUMBER to get qualifier or keyword number.

v03-007 PCGO017 Peter George 27-Dec-1982
Be smarter about using old get value contexts.
v03-006 PCGO016 Peter George 13=Dec~1982

Fix bug in multiple nested value fetch.
Clean ug some more code.
Return CLIS_ABSENT instead of false when no value is found.

v03-005 PCGO0O15 Peter George 11-Nov-1982
Be smarter about when to return CLIS_COMMA for
parameter values. Do not return a default value
if otqgalifior or keyword has been explicitly
negated.

v03-004 PCGO014 Peter George 14-0ct-1982
Return CLIS COMMA for default values.
Add DCLSNEXTQUAL.

v03-003 PCGO013 Peter George 01-Sep=-1982
Support keyword parsing.

v03-002 PCG0012 Peter George 03-Aug-1982
Redo the previous fix in a different manner.

v03-001 PCGO011 Peter Goor?o 14-Jun-1982
Differentiate between Local and global presence

in CLISPRESENT.




1 Bliss=32 V4.0-74 P |
WAt eR i OsRedrpcLinT 83279 (2F

VAX=

198¢ 92:98:38

ep-
ep=

W 12
3

i

b

mmon VMS BLISS definitions

1 definitions

S common definitions
1 definitions
L definitions

''VM
! Co
' CL
' CL
' DC

OO

et etk ol

- — e —




Z
pr

e
0
o
P

—
—

NNNNNNNNNNNNNNNN

A N UM U N R N N AR RN PO AU NO N NN NI N

W= OV NO WV WN = OV NV MAN = OO N VNN = OV N VS i = O
OO VWIS B DN
W= O VRNV WN = OO0 NO WV BN = O V00 NO VS IR = OV NS W = O

) ol i ) el o i ) ) il el e e D D D e D D e e el D e D e D D D D D D D el D D e ) D il ) D D o ) D e il D e D d D B D >

SNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNN

L LR LR R e T T L L L T T e e R R R A A e e T T T I T I T s o e M S O T T T o T ™

-l i i i s il D i i el e el D D i D D il i il D i il e D i i i el i e e ) il o e i e e e i D D D s e e el e
NNNNNOOO g( 20008“0‘\0\”\”“\0“\”“"’5l‘b&bbb’uwu
S NN =OOVO~NIW

NNNNNﬂ%OOOO:
VSN = O 000 ~NO W

12
1-gem:logs 99:38:3
§ Table of contents
L INKAGE

EXTERNAk ROUTINE
sys$Scli;

FORWARD ROUTINE

initialize : NOVALUE,

dclSpresent,

parameter_present : entity_linkage,

valifier_present : entity_Linkage,

clSgetvalue

parameter_value,

qualifier_value,

reserved_value,

verify entities : entity_linkage,

find_main_entity : entity_Linkage,
vori?l_koyuords.
find_keyword_entity : entity_Linkage,
find_entity : entity_Llinkage,
guess_entity : entity_Llinkage,
guess_keyword_entity,
process_keyword_Llist,
get_param_token,
get_next_value,
get_explicit_value,
get_specified_value,
et_default_value,
nsert_next_Llevel,
insert_string,
insert_char
allocate_default_buffer,
local _qualifier,
globat_qualifier.
oken_string : NOVALUE,
upcase : NOVALUE,
botch_{ob.
convert_keyword_Llist,
dclSdispatch,
dclSnextqual,
dclsendfarse.
dclSgetline;

]
; Change name of the PSECT's to conform to DCL standards.

PSECT PLIT CL$ZCODE(EXECUTE, ALIGN(0));
PSECT CODE CL$ZCODE(EXECUTE, ALIGN(0)):

D
D
:

; Get values of status messages.

EXTERNAL LITERAL
cli$_comma,

i i ) e e il e ) ) e ) el e ) ) e e e ) D e ) el il D e el ) D D D el D el D il D D D e e D D ) e D ) ) e D D D D D D D

entity_Llinkage = call : GLOBAL(block=9,number=10,type=11);

O D —— - ——— - —— - - - ——

32V
R:CDCL.SRCIRPCLINT.B32;

! Common linkage

! Callback entry point

Initialize own storage

Determine if entity present
Determine if parameter is present
Determine if qualifier is present
Get value of entity

Get next parameter value

Get next qualifier value

Get a reserved ontit; value
Verify all the specified entities

Find qual, param, or reserved entity in da

v.rifl legal keyword path
Find keyword in database

Find gonoric entity in database
Searc horizontall; for keyword
Search vorticall¥ or keyword
Process the specified keyword List
Find next parameter value on Line
Get next value

Get next explicit value in the List
Get specified value

Get default vluae

Get next level of default values

Put string in default value

Put character in default value
Allocate space for default value
Find Llocal occurrence of qualifier
Find global occurrence of qualifier
Copy token string to descriptor
Upcase a strin?

True if batch job or not

Convert the keyword List to an array
Dispatch to user Yrocossing routine
Find the next qualifier

Cleanup allocated VM and CTLSAG addresses
Get command Line

! PLIT psect
! Code psect

! Value is terminated with a comma

4.0-74 Page 4
1 (3)

|
|
|
i
i
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RPCLINT 1%-50 - :126: VAX=11 Bliss=32 v4.0-74 Pa
VO&-&OO 14-503- ?gzig:gg DISKaVMSMASTER: [DCL.SRCIRPCLINT.B32;1
: 175 1777 1 clis$_concat, ! Value is terminated with a plus
s 17 1778 1 cliS_present, ! Entity is explicitly present
s W1 1779 1 cliS_negated, : Entit; is ’xplicitly not present
s 11 17 ? 1 cliS$_Locpres, ! Qualifier is locall¥ frcsont
3 17 17 1 clis_locno?. ! Qualifier is explicitly not locally presen
; 180 17 i 1 cli$_defaulted, ! Entity is implicitly present ;
;181 17 1 cliS_absent, - Ent1t¥ is implicitly not present
3 18; 1784 1 cliS_invrout, ! Invalid routine
: 18 1785 1 cli$_entnt ! Entity not found
;18 1786 1 exe$C_sysefn; i System event flag number |
: 189 P 1738 1 $shr_messages(msg,3, ! Prefix MSGS_ with CLI facility !
3 }ga };98 } (syntax,severe));
;189 1791 1 LITERAL |
: 190 179§ 1 msg$_noentity = msg$_syntax; ! Provide temporary definition '
B TS B E |
; }gg };95 } g Define entity type numbers (for internal classification of entities)
;195 1797 1 LITERAL
: 196 1798 1 nin_entit¥ =1, ! Minimum entity type number
: 197 1799 1 param_entity = 1, ! Entity is a parameter .
: 198 1800 1 qual_entity = 2, ! Entity is a qualifier :
: 199 1801 1 reserved_entity = 3, ! Entity is a reserved word {
: 200 180; 1 max_entify = 3; ! Maximum entity type number i
i $03 1804 1 |
: soi 1805 1 ! Macros to get the address of a token descriptor given a token index, !
3 282 }ggg } : and to get a token index given the address of a token descriptor. '
;206 1808 1 MACRO token_desc(index) = ! Index => Token
: %07 1809 1 wrk [wrk_g_result) + (index=1)*ptr_c_lengthX; ,
; 208 M 1810 1 MACRO table_Tndex(token) = ! Token => Index
;. 209 1811 1 (token = wrk [wrk_g_resultl)/ptr_c_length + 1%; 5
P8 1815 1 1 |
; }i }g}g } % Macro to zero the unused portions of the context arrays. |
; }g : }8}9 } ﬁACRgEéfzo-context_orrays(index) =
;216 M 1313 1 CHSFILL (0, 4+(dcl_c_context-(index)), entity_context [index));
s 2NV M 1819 1 CHSFILL (0, 4+*(dcl_c_context-(index)), token_context [index]);
: 13 13 0 1 ENDX;
i 520 1852 1
;22 18 i 11 Cells containing addresses of CLINT own storage and command work area.
3 Zi 1826 1 ! If these addresses were not defined by DCLSDCL_PARSE, then we are parsing
: Z } 5 } ; a supervisor mode command and they are initialTzed here.
;225 1857 1 EXTERNAL
: 6 1828 1 ctiSgl_clintown : REF BBLOCK, ! Address of pointer to own storage
3 é } 3 } ctlSgl_dclprsown : REF BBLOCK; ! Address of pointer to wrk area
; 1831 1 !
: 0 1 g; 1 ! Table of reserved entity names
: 1 1 ! !
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PLIT BYTE(

f2-198 9017413

! Returns entire command Line
! Returns verb name (as defined)
! == End of Llist

DA ER- bt OsheSnpcL InT 832,729
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v04E600 16-503-19 4 ?g:igzgg DISKSVHSHASTER:[DCL.SRCiRPCLlN1.832:1 . (4)
3 28 } ‘? } ROUTINE initialize (get_vm, free_vm) : NOVALUE =
L
s 26 1864 1§ This routine is called on the first call to this
:  2b4 1845 1! interface package. It initializes the own storage
5 25 } 2? } E and sets up for result parsing.
: o 1848 1 { Inputs:
;249 1850 1! et_vm = Address of LIBSGET VM routine
: g? } g] } ; ree_vm = Address of | '8%ikcc_VM routine
; gi }ggg } g Outputs:
;254 1855 1 i OWN storage initialized.
: 235 1856 1 !==-
: 256 1857 1
: g; }ggs BEGIN
;259 1860 2 BUILTIN
: 260 1861 PROBEW, ! True if location writable
: ggl }ggg PROBER; ! True if location readable
: A
: gg& }ggg - %ndex. ! Token index
: 265 1866 plm : REF BBLOCK ! Address of parameter Limit block
;266 1867 req_desc : BBLOCK [cli$c_reqdesc], i Callback request descriptor
: 267 1868 req_flags : BITVECTOR [35]. ! Callback request flags
: 268 1869 rpw : BBLOCK [cliSc_workareal, ! Result parse work area
: 269 1870 token : REF BBLOCK, ! Address of token descriptor
;s 270 1871 wrk : REF BBLOCK, ! Address of WRK block
3 371 187; status;
: 7; 187
10 1875 5
;275 1376 i Get memory for parse routines' own storage. Store address of own storage
3 ;9 }g;z ; in CTLSGL_CLINTOWN. If LIBSGET_VM is unsuccessful, then abort.
; 578 1879 IF NOT (status = (.get_vm) (XREF(dcl_c_size), ctlSgl_clintown)) ! Get memory for CLINT own storage
: 279 1880 THEN SIGNAL (.status); ! Signal error if failed
% B N
; gg l%ﬁg i If the WRK block pointer is zero, then make an old fashioned INITPRS
S 82 }aag ; callback to get it.
;285 188? IF .ctl$gl_dclprsown EQL 0 ! If we have no WRK block pointer
: 286 1ga THEN SEGIN ! Then get one now
: 287 1888 CHSFILL (g.cliSc_roqdesc.roq desc); ! lero request desc block
: 288 1889 req_desc [cliSb_rqt ge] = cLT8k_initprs; ! Set request type
: 289 1§90 3 IF ROT (status = gv! CL] (req_desc, rpw, req_flags)) ! Init_result parsing solely to get
: 1891 THEN SIGNAL (.status):; ' rpw Crpw_L_dclwrk)
. 139; ctiSgl _dclprsown = .rpw [rpu_l_dclurk]: ! Store addréss of WRK area
3 189 END;
| 1 ¢
: 1896 ¢ | Get the address of the command WRK block from CTLSGL_DCLPRSOWN.
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97 ! i

§z 33 wrk = .ctlSgl_dclprsown; ! Get address of WRK area |

59 ' ?

00 ! verify the volidit‘ of the CLI WRK area pointer, to ensure that we aren't ;

81 ; trying to deal with a mismatched WRK structure. |

Og ctlSgl_clintown [dcl_v_nowrkareal = true; ! Assume invalid WRK area E

]
5 Check first result parse descriptor.

result]);

token = wrk [wrk g
IF NOT PROBER(XREFTpsi$c_us

Point to first entry in array

!REF(Etr_c_length>..token) I1f not readable,
k

|
!
er), '
OR .token [ptr_v_typel GTRU ptr_k_ignore Or invalid type code, s
OR .token [ptr_v_term] GTRU ptr_k_Lparen Or invalid terminator code, i
OR .token L[ptr_v_term] LSSU ptr_k_blank
OR .wrk Lwrk_L_rsinxt] LSSA wrk urk_g_result% ! Or invalid RSL pointer, 1
OR .wrk [wrk_L_rslnxt) GTRA wrk [wrk_g_result] + wrk_c_rslbufsiz 1
THEN RETURN; ! Return with invalid WRK ‘
|
H
: Check first parameter entity block and first qualifier entity block. 1
. |
token = .wrk [wrk_L_proptrl; ! Get address of param entities t
IF .token NEQ 0 ! If invalid pointer,
THEN IF NOT PROBER(XREF (psl$c_user) , XREF(10),.token) ;
THEN RETURN; ! Return with invalid WRK |
token = .wrk [wrk_L_quablk]; ! Get address of qual entities |
IF .token NEQ 0 ! If invalid pointer,

+HEN IF NOT PROBER(XREF (psl$c_user) XREF(10),.token)
THEN RETURN; ! Return with invalid WRK

|}
; If we've gotten this far, then indicate that the WRK area is valid.
ctisgl_clintown [dcl_v_nowrkareal = false; ! Indicate valid WRK area

' i
: Initialize the CLINT own storage area. |

0 0 O O O O OO OO OO O OO O OO O OO OO O OO0 OOOOOOOO OO OO OO0

W LN N AN A AN AN AN N AN NI NI NI NI PO PO NININ) = = e b b b e e ek 2 O O O O O O OO0 OO
VO NOWVS NN = OOV N VS NN = OV NO WS W = O TN WS WIWIN—O

g Clear all information about the default value buffer.

—d i e ) ) ) — ) ) ) ) -l — ) D D ) D ) D D D D D e D e D e e D D e e D D D D D D D D D D D D D e e D D >

R R R e s e o e R TR T T TR L TR L A L TR L T R L T T T L T L L T T T T T PR LA P L A L PR LA P PR LA LN T L

WWWWMU
VWAV S w ALAANANI NI NI NI NI NI NI RININ) b b b b b o b b b B O O

940 2 |
941 ctlSgl_clintown [dcl_w_buflen) = 0; ! Clear Llength of buffer |
3:; CHSFILL (0, dsc$c_s_BlA, ctngl_cl%ntoun Cdcl_w_deflen)); ! Zero default value descriptor

|
944 ! |
325 % Save the addresses of the LIBSGET_VM and LIBSFREE_VM routines. '
9&? étltgl_clintoun dcl_l_vetvn] = .get_vm; ! Store LIBSGET VM
gtg ctiSgl-clintown [dcl L freevm] = .frée_vm; ! Store LIBSFREE_VM
950 ! :
gg1 ; Clear all context information.
9S§ ctisgl_clintown [dcl_v_nextquall = false; ! Assume normal qualifier parse
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L_clintown dcl-l,entitggg: ! Set no entities processed yet

Set no tokens processed ye

Each byte

arameter type

CHSFILL(Q, &4*dcl_c_context, ctlSg

CHSFILL(O, &*dcl_c_context, ctlSgl ilintown del_L_token
CHSFEILL(O, 16*plm C_size, ctlSgl_cTintown [dcl_L pFmlim]);
ctisgl_clintown [3cT_b_param] = 0;

ctiSgl_clintown [dcl_L_quall = 0;

i

; Initialize the parameter List markers in the clint own storage.
i For each parameter type, a plm longword is filled in.

; contains the index of a result parse descriptor, as foll

i plm_b_nxtdesc = next parameter value to examine

: plm_b_fstdesc = first parameter in the list

s plm_b_Lstdesc = Last parameter value before next

; plm_b_quadesc = first possible local qualifier token
index = 0;

plm = ctl$gl_clintown Cdel_L_prmlim);
status = get_param_token(index,token);

WHILE (.status)

D0 BEGIN
plm [plm_b_fstdesc)] = .index;
plm Lplm_b_nxtdesc] = .index;
plm [plm_b_quadesc] = .index;

WHILE (status = get_param_token(index,token))

PO BEGIN

BIND preceeding_token = .token = ptr_c_length: BBLOCK;

IF . roceedinaofohen Cptr_v_term) EQC ptr_k_blank

THEN EXITLOOP;
ND;

plm [plm_b_Llstdesc] = .index~1;
EkB-‘ plm™+ plm_c_size;

ETURN true;
ND;
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+TITLE
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PSECT

0000 P.AAA: ,ASCII
§0006 ASC1I
000C

BYTE
RESERVED_WORDS=

"EXTRN

"EXTRN

EXTRN
EXTRN

! Start at first token descriptor

! Point to first plm longword
! Get first parameter token
Until no more parameters

and set next value to proces

Scan for next parameter value

If start of next parameter
then stop for a second

p to next plm

RPCL INT
\VB&-OOO\
DCLSZCODE ,NOWRT,0

<S>\SL INE\
65>\SVERB\

RESENT
LOCPRES
EFAULTED

DISKSVMSMASTER: [DCL.SRCIRPCLINT.B32;

lero parameter Limit descs (plms)
Set no parameters processed yet
Set no qualifier processed yet

Save starting token for parameter
s
and set first possible qualifier token

- gtge ending token for prev. parameter

|
|

i
|
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16-Sep-108¢ 12:18:38 B

GLOBAL ROUTINE dclSpresent (rqdesc, rqwork, rgbits) =

Inputs:

i

i

i

i

|

E rqword, rqbits = ignored

g Outputs:

g Routine value:

| success = clis-fresent
: cli$_locpres
; cli$_defaulted
i failure = cli$_absent
: cli$_negated
; cli$_locneg
g ALL errors are signalled.
BEGIN

MAP

rqdesc : REF BBLOCK;

GLOBAL REGISTER
block=9:
number=10,
type=11;

LOCAL
keyword_array :

REF BBLOCK,

VECTOR [2+(dcl_c_context+1)+1];

1
; Initialize CLINT if necessary.

IF .ctl$gl_clintown EQL 0
THEN initialize (.rqdesc [int_L_getvml,
.rqdesc Cint_L_freevml);

|
; Verify that valid entities were specified.

return_if_error (verify_entities (rqdesc [int_w_entlen],
keyword_array));

i If the entity is reserved then it is alwyas present.
; a parameter or qualifier, then check it out.

CASE .type FROM min_entity TO max_entity

X=11 Bliss=32 Vv
SKSVMSMAS TER e

Determine if an entity is present on the command line.

rqdesc = Address of request descriptor data structure

! Address of entity descriptor block
! Parameter/qualifier number
! Entity type

! Keyword array

! 1f not yet initialized,
! then initialize parsing

! Verify all specified entities

If it is

! Process each entity type differently

4.0-?45 P 12
:[DCL.SRCIRPCLINT.B32;1 ~ (5)

-
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rec i 16-gep-108¢ 00:26

OF SET
reserved_entityl: RETURN cli$_present;
poran_enfit!]: RETURN parameter_present (keyword_array
ng,l_entity : RETURN qualifier_present (keyword_array
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s

53 6%: RET
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; Routine Size: B84 bytes, Routine Base: DCL$ZCODE + 0160

gg VAX=11 Bliss=32 Vv&.0=74
DISKSVMSMASTER

i Process reserved entity
5;]):! Process parameter entity
[21); ; Process qualifier entity

DCLSPRESENT, Save R9,R10,R11
-68(SP), SP
gILSGL_fLINTOHN

, RO
16(R0) . =(SP)
g , INITIALIZE

P
#8, RQDESC, -(??

)
#2. VERIFY ENTITIES
03

38-
#CLIS_PRESENT, RO

KEYWORD_ARRAY+8
#1, PARAMETER_PRESENT

KEYWORD ARRAY+8
#1, QUACIFIER_PRESENT

i P
:[DCL.SRCIRPCLINT.B32;1
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16-Sep-108¢ 12:88:38  DUSKIUMMASTER? cBCi TsReSmpce 1w .032: 7%

ROUTINE parameter_present (keyword_List) : entity_linkage =

Determine if a parameter value is present.

]

]

]

)

: keyword_List = Address of List of keyword descriptors
’ block = Address of parameter entity descriptor block
: number = Parameter number

: type = Always paramter

g Outputs:

]

]

]

routine value = status indicating presence

BEGIN
MAP
keyword_List : REF VECTOR;
EXTERNAL REGISTER
block=9: REF BBLOCK, ! Address of descriptor block
number=10, ! Parameter number
type=11; ! Entity type (param_entity)
BIND
wrk = ctlSgl_dclprsown : REF BBLOCK ! Address of command wrk area
prmlim = cti8gl_clintown [dcl_l_prn[iu] : VECTOR; ! Parameter context array
LOCAL
default, ! Defaut values flag
plm : REF BBLOCK; ! Address of parameter limit
)
; Set parameter state variables
plm = prmlim [.number=1]; ! Find Limits of this parameter

ctiSgl_clintown [dcl_b_param] = .number; ! Save last parameter # requested

! (for local qualifier search)

! If the parameter is not explicitly present, then check to see if it
has a default value or is present by default. 1f not, return CLIS_ABSENT.

]
i
]
|
IF .plm [Pln_b fstd{sc] EoL 0 !
THEN IF (TbTock [ent_w_defval) EQL 0) AND
NOT .block [ent_v_deftruel
THEN RETURN cli$_absent
ELSE default = true
ELSE default = false;

It parameter is missing
And has no default value
And it is not present by default
Then indicate not present
Else set default f a?
ag

Else clear default f

1
6

4
)




V06000 g 201080 19:68:38 BINKlImIMAE Rl bt OsheSrpcLinT 032: 7090 (3

;. S17 119 ' Tho oranotcr is either present of defaulted. Now it's time to check

: 13 1" oyuords. If a keyword List is specified, then call process_keyword_List

: 10 }}g ' to chock for thoir presence.

; 1 } ? .l!‘ﬂbfd Llist (0] NEQ O ! If we have a keyword Llist

s g i 1 ; LOCAL faund qual, token;

: 4 1 qual ! Assune first token will be defaulted
3 g S 124 token = token desc (. pln plm_b_fstdescl); ! Get first parameter token

3 ? 125 found = process_ keyuord st (.Block, keyuord list 0], ! Process the keyword list

: 1 9 .token,"” .dtfault. paran entity, 0 qua[ 1

: 8 1 IF ual GTR 0 ! 1f value was not defaulted

: E 128 EN plm Epln _Qquadesc] = table_index (.qual) + 1 ! Then update local qualifier context
3 D 129 ELSE plm plm b_quadesc] = .plm Cplm_b_ Lstdesc] + 1; | Else allow no more Local qualifiers
3 2 1 130 RETURN . found;

3 i 13 END;

: 138

: Sgg 134 ' If we've gotten this far, then no ke{words are present and the specified

: ggg }g; i ! parameter is either present or defaulted. Return the appropriate value.

; 638 13 .default ! If the parameter was defaulted

: 539 2138 tHEN RETURN cli$_defaulted ' Then sopindlcate

: g:? 5133 . BEGI? | desc] Im Cplm_b_fstdesc] + 1; ! Upd Lifi i

: m m vadesc] = .plm m stdesc] + ! ate qual er pointer

: Sk; 2141 ETUR cti!qpresent. v . ! Rgturn gresent ;

: 54 216; 2 3

;544 %14 2

;. 545 144 1 END;

001C 00000 PARAMETER PRESENT:
.HJORD Save 22 R3.R4

54 000000006 00 9€ 00002 MOV HRK 3
55 04 C2 00009 SUBL ;
50 000000006 00 DO 0000 MOVL CTLSGL CLINTOWN, RO : 209
52 FC AO4A 35 0001 MOVAL =4 (RO)TN ungenl PLM : 210
008F €O SA 0001 MOVE nunasn 143(RO) : 210
01 A; 95 0001D TSTB  1(PLM) : 210
17 12 00020 BNEQ $ ;
1C A9 ? 08 ; TSTW a(aLocx) : 2109
D 0 BNEQ :
08 04 A9 2 EO 00027 BBS 12 4(BLOCK), 18 Pan
50 000000006 8F 32 80 g :g¥L #CLIS_ABSENT, RO :n
53 1 00 8 L 1%: MOVL  #1, DEFAULT PN
i 1 7 BRB 3$ ;210
04 9 gs: CLRL  DEFAULT ;N
04 as ?g B 3%: TSTL  SKEYWORD_LIST ;212
4 BEQL 5% ;
62 D4 0004 CLRL OUAL : 515
0 6 go 04 MOVL RO I3
1 01 A2 9A 0004 MOVZBL 1(PLH) :
1 0C C4& 00049 MULL ni ;




H13
RPCLINT 16=-Sep=1984 00:26: VAX=11 Bliss=32 V&.0=74 Page 16
vo«-&oo 14-s.3-1934 ?3:72:53 DISKSVMSMASTER: CDCL.SRCIRPCLINT.B32;: 1 % (&
50 FOAA C140 9E 0004 MOVAB  =1622(R1)CRO], TOKEN ; 9
? go PUSHL  SP P 2125
7€ 0 MOVQ  #1, =(SP) : |
9 B8 8 7 PUSHR  #*M<RO,R3> : 5152.
04 AC DD 9 PUSHL  KEYWORD_LIST : 2125
59 DD C PUSHL a»ocx : |
00000000V  EF 07 ¥ CALLS  #7, PROCESS_KEYWORD_LIST : .
65 D £ TSTL  QUAL ;2127
12 1 6 BLEG 4 :
51 5 64 3 069 SUBL3 WRK, QUAL, R1 : 2128
064A (1 oo? MOV 1610(R1), "R : a
1 5 88 DIVLe #12, RI :
03 A2 1 7 ADDBS  #2,R1, 3(PLM) :
4 087A RET :
03 A2 02 A2 01 81 00078 &$: ADDB3  #1, 2(PLM), 3(PLM) : 1§
4 00081 RET ;2
08 53 E9 oooa; 5%: BLBC  DEFAULT, 6% ;213
50 000000006 8F 02 8883c =g¥L #CLIS_DEFAULTED, RO ;213
03 A2 01 AS 01 81 0008D 6%: ADDB3  #1, 1(PLM), 3(PLM) P 214
50 000000006 8F DO 00093 MOVL #CLIS_PRESENT, RO ;214
04 0009A RET : 214

H=0 WONOO

; Routine Size: 155 bytes, Routine Base: DCLSZCODE + 01B&
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RPCLINTY 11-50 =1984 00:26: VAX=11 Bliss=32 V4.0-74 Page 17
006000 Jo-2e0-1080 99:48:98  JNRlimenadteRl bt Vs R ttnpcLint .032: 709 N}
27 } ROUTINE qualifier_present (keyword_List) : entity_Linkage =
‘ 1 !---
20 1 !
1 } ; Determine if a qualfier value is present.
%2 } : Inputs:
Sg } : keyword_List = Address of List of keyword descriptors
57 1 ! block = Address of qualifier entity descriptor block
223 1 ! number = Oualiﬁier number
1 : type = Always '‘qual_entity
gg? ‘} : Output
utputs
362 i g
524 } : routine value = status indicating presence
368 168 1 i---
66 1
67 1
1
1
1
}
1 block=9: REF BBLOCK, ! Address of descriptor block

type=11; ! Entity type (param_entity)

LOCAL
default, ! Defaut values flag )
tgk:n : REF BBLOCK, Address of next token descriptor
status;

Search for a local occurrence of the qualifier. If none found, and
the qualifier can be positioned globally, then search for a global

000000000000 N NNNNNNNNNO

OO O VWA WVIWVIAVIVIVIVAA
RESESERRINIEETE
DSOS LSS LN LN TN TN LN LN N DN LS N DN DN LN QS US DS L A QS LN LS LS S LN LS [N ]

VIV AIWIAIA WMV A WMTAVVIVIVIAIVIVIVIWVA

occurance.

token = local qualifier (.block, .number); ! Search for local qualifier

IF (.token EQL 0) AND .block [ent v verb) ' 1f none, but allowed ?lobalg¥,
THEN token = global_qualifier T.Block, .number); ! Then search for global qualitfier

If no occurence was found, check to see if it is present by default.
If not, then return CLIS_ABSENT.

F .token EQL 0 ! 1f no occurrence found,

THEN IF NOT .block [ent_v_
AND NOT (.Block C[ent_v_batdef] AND batch_job())
i$_absent ! Then return not present
true ! Else set default fla?
ag

L R

deftruel ! and not defaulted present

0O O OO O 0000 00 00 00 GO 00 00 00 00 N N NN NN NNNNO OO OO O O OO O VIVAUWAVWAAUIWAS 8 S 0 0

THEN RETURN cl
E default =

ELS
ELSE default = false; ! Else clear default f

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
3
1
1
1
1
BEGIN
MAP
keyword_List : REF VECTOR;
EXTERNAL REGISTER
number=10, ! Parameter number
; ! The qualifier is either explicitly, or defaulted, present. If any keywords

R R TR TR T T R A LA L T TR LR LA L T LR L T T TR T PR TR T e T T T T T R TR R s I T ™

Wdﬂddddﬂdd‘-‘ddddddddﬂﬂ‘dd-ﬂddd

60
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RPCLINT 1&-509-19 4 00:26: VAX=11 Bliss=32 Vv4.0-74 Page 18
VO‘-&OO 14=Sep=1984 ?g:ig:gg DlSKSVHSHASTER:[DCL.SRCiRPCLlNT.BSZ:1 . (7)
: ggg gi ; were specified, search for them now. f
N & ¢ ifF .keyword_List [0] NEQ 0 ! 1f keywords to check
: 60 S IHE‘ BEGIN ! Then Zhock them
: 608 09 status = process_koluord_list (.block, keyword_List [0],! Process keyword list
: 609 0 .token, .default, quo(.entity. 0, 0);
: 610 03 & IF (.status EQL cli$_defaulted) ! If presence was defaulted |
: 6N 09 & OR (.status EQL cli$_absent) ! or not found |
3 61; 10 THEN RETURN .status; ! Then return now ;
: 61 1 ND i
P8l 1§ 3 |
3 g}? }g ; No keywords are present. Just set the global status. ;
: 618 1 ELSE IF .default ! Else no keywords, so set status |
;s 619 19 THEN RETURN cli$_defaulted ! It defaultld. then return now :
: 620 18 ELSE IF .token [ptr_v_ne?ate] ! If negated, then |
;s 621 19 THEN status = cli$_negated ! Then indicate so !
: g g g? ELSE status = cli$_present; ! Else mark as present ;
;624 ' |
;. 625 Sg ! If qualifier was positioned Locally, then convert the global status ;
3 g ? gg ; to a local status. Otherwise, return the global status. ;
: 658 226 IF .token [ptr_v_typel EQL ptr_k_comdqual ! 1f command qualifier !
3 6%9 2%7 THEN RETURN™ .Status ! Then return current status ;
: 630 8 ELSE IF .status EOQL clii,grcsont ! Else convert to local status |
: 63 §9 THEN RETURN cli$_locpres ! Then indicate locally present |
: 23; %23? ELSE RETURN cli$_locneg; ! Else indicate locally negated |
: 634 2232 1 END; ?
003C 00000 QUALIFIER PRESENT:
.HORD Save R2,R3,R4,.RS : 2145
55 000000006 gr DO 00002 MOVL  #CLIS_PRESENT, RS :
54 000000006 8F DO 00009 MOVL  #CLIS_DEFAULTED, Ré4 : ,
;3 000000006 gr 90 0010 MOVL  #CLIS_ABSENT, RS :
E 9 70 0001 MOvaQ BLOCK, =(SP) : 2185
00000000V 3 02 FB 0001A CALLS  #2, LOCAL_QUALIFIER : ,
2 g D 88 1 MOVL RO, TOKEN : ‘
1 4 BNEQ 4 : 2186 |
90 05 A9 0026 BLBC S(BLOCK), 1% :
: 59 70 0002A MOVQ  BLOCK, =-(SP) ; 187
00000000V EF gs FB8 00020 CALLS #2, GLOBAL_QUALIFIER F i
2 ? 80 MOVL RO, TOKEN : |
10 037 1%: BNEQ 4 : 2193
13 4 A9 ¢ EO 00039 BBS #2, 4(BLOCK), gs : 2194
A & A9 E1 00 5 88(C #5, 4(BLOCK), 2% : 2195 |
00000000V  EF FB 0004 CALLS  #0. gATCH-JOé : |
4 E 86A BLBS RO, 38 : |
0 8 4D 2% MOVL R3. RO s 2196 |
4 8050 RET 3 5
50 01 DO 00051 3% MOVL #1, DEFAULT : 2197 |




K 13 |
RPCL INT 16=Sep=-1984 VAX=11 Bliss=32 Vé. ge 19
vo~-500 14-5. 33 ?g f? ;g DISKSVMSMASTER: [DCL. sncinpcmxnr.asz :1 c});
23 1 4 BRB 5% : 2194
D4 g gs: CLRL  DEFAULT : 2198 |
04 ?c og $: TSTL  @KEYWORD_LIST i 2204 |
F ; B BEQL 6% :
7€ 7C 0 CLRG  =(SP) ; 2206
0D f PUSHL  #2 ; |
00 0006 PUSHL DEFAULY : 2207
0D 0006 PUSHL  TOKEN ; |
04 As DD 0006 PUSHL xevuoao _LIST i 2206 |
59 D 000 PUSHL 5 ;
00000000V gr 7 FB 009A CALLS #7, PROCESS_KEYWORD_LIST ;
4 g ?1 88 1 (MPL STATUS, Ré : 2208
1 BEQL  11$ :
53 0 o1 0073 CMPL  STATUS, R3 i 2209
18 12 0007 BNEG 9% ; |
04 00078 RET ; 5210
ga 50 €9 0007C 6$: BLBC  DEFAULT, 7% ; 2216
0 54 DO 0007F MOVL R4, RO ;2217
04 oooag RET ;
09 62 14 E1 00083 78: BB( #20, (TOKEN), 8$ : 2218
50 000000006 8F DO 00087 MOVL  #CLIS_NEGATED, STATUS ;2219
03 11 oooag BRB 9s ;
50 55 DO 00090 8%: MOVL RS srar s : 2220
00 62 04 1C ED 00093 9$: CMPZV 026 , (TOKEN), #0 : 2226
14 13 00098 BEQL 11$ ;
55 50 D1 0009A CMPL  STATUS, RS ; 2228
08 12 00090 BNEG 108 :
50 000000006 8F 32 38822 =2¥L #CLIS_LOCPRES, RO ;2229
S0 000000006 8F DO 000A7 108:  MOVL  #CLIS_LOCNEG, RO : 2230
04 O000AE 11$:  RET : 2232
: Routine Size: 175 bytes, Routine Base: DCLSZCODE + 024F
I
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13 :
RPCLINT 1%23:3:1382 09:88:38 BN KiImemASTER roer OsneSapeL InT 032; 29 (59;

g 2 GLOBAL ROUTINE dclSgetvalue (rqdesc, rqwork, rgbits) =
638 5 leee
639 ?
640 This routine is called to obtain the next value
221 g ; associated with a named entity on the command line.
66; 40 ! Inputs: |
644 &1 - ;
645 4§ ! rqdesc = Address of request descriptor data structure
646 A s rqword, rqbits = ignored
647 [ : f
648 &5 ! Outputs: |
649 ’0? ' 3
650 4 : Routine value: |
651 48 ! .
65% 49 ! success = CLIS_CONCAT = a value terminated by a plus was returned ;
65 50 - CLIS COMMA - a value terminated by a comma was returned |
ggg 221 E SSS_NORMAL - a value was returned (there may be more) |
2?? 222 ; failure = 0 - there are no more values associated with the entity |
658 §SS ! ALl errors are signaled. !
659 56 leee ?
660 557 |
661 58 BEGIN ‘
66% 259
66 260 MAP ;
221 rqdesc : REF BBLOCK; =
§6§ GLOBAL REGISTER
64 block=9: REF BBLOCK, ! Address of entity descriptor block |
265 number=10, ! Parameter/qualifeier number
2 type=11; ! Entity type
g LOCAL
keyword_array : VECTOR [2+(dcl_c_context+1)+1]; ! Keyword array

]
g Initialize CLINT if necessary.

IF .ctlSgl_clintown EQL 0 ' If not yet initialized,
THEN inTtialize (.rqdesc [int g_?etv-]. ! then initialize parsing
.rqdesc [int_L_freevm)); '

]
g Verify that valid entities were specified.

o

A At L N N N N N N A A N A N L N N LS L LN o S S S DS DSOS S S LS NS TSN NN TN TINT NSNS T NTNTUNT ST ST NI NI RTNTNT ST NTNT N

NORLNONLNININLNLNINININININI NI NN NV NOND

return_if_error (verify_entities (rqdesc [int_w_entlen], ! Verify all specified entities
keyword_array)); :

|}
% Process each primary entity type differently.

000000000000 NN NNNNNNNN

133230 30 0 SRR RIS 3 33 13
L PR R PRSI

g?sg itype FROM min_entity TO max_entity ! Process each entity type differently

TR LR TR IR TR T T TR L L P T PR LR TR LR L TR LA L T T T L L L N T A A L R L I

PIRIAININININIAININININININININININIAININIAININI NI NININININININD = b b b b e o e e o o o o i b o o o b e o b b o
—

oo
o2

param_entity): RETURN parameter_value(.block, .number, ! Process parameter
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RPCLINT
V04~

: Routine Size:

Mm13
16 Sep-
14=Sep-

2], rqdosc [int

Eier value( ?
Fqdesc [ nt
osorvid value(,

90 eyword arra
91 Lqual entity] ’nsruln uel
9§ {ugr lrrl
£l (reserved_ enti TURN r
94 rqdosc [ nt_w_entlenl)
95 TES
3% £ eno:
SE BC As
000000006 80
50 06 A
7E 10 AS
FCF& CF 92
E
52 06 AC 28
00000000V 5; g§
02 01 S8
0026 0016 0006
52
0C AE
143 59
00000000V EF 04
52
0C AE
7€ 59
00000000V EF 04
52
SA
00000000V EF 02
100 bytes, Routine Base: DCL$SZCODE +

0E04 0000g
9€ 0000
D> 00006
12 0000C
9 0005
D 0001
FB 00016
DD 00018 1§:
€1 00010
DD 00022
FB 00024
E9 00028
CF 000;5
00032 2s:
DD 00038 3%
9F 0003A
7D 0003D
FB 000&9
04 0004
DD 00048 4§:
9F 0004A
70 0004D
FB 00050
04 00057
DD 00058 5%:
DD 0005A
FB 8005§
04 00063 68:
02FE

S198¢ 12:98i38  BIScEimemASTER
E:?‘?;b;n]). Process qualifier

v entlenl);
number,

Process reserved entity

. - - — - °<

s VALUE Save R2,R9,R10,R11
L. éLlurouu
C, RO
), =(SP)
o/ N TIALIZE
OB. RODESC, R2
0 VERIFY _ENTITIES
68

DCESG
=68(SP)
CTLSG
1$

RQDES
13(80
#, 1

KEYUORD -ARRAY+8
BLOCK, =(SP)
#4, PARAMETER JVALUE

R2

KEYWORD_ARRAY+8
BLOCK, =(SP)

e, OUALIFIER VALUE
R2

NUMBER
#2, RESERVED_VALUE

AR LR LA LA TE PR PR TR TR PR TR TR T R TN TR T T T TR T T T T T T T T

V4.0-74 o 1
b sneSpcLint . 032: 7% (8

2233
2274

2276
2275

2282

2293

2290
2289

2293
2292

229

293
2293
2297

S ——————
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V04-000 33:831334. 09:88:38 DI NdInenAdteRccbe: Pt SapeL int 032,709 (83

3 ;8; 38 } ROUTINE parameter_value (entity, param_number, keyword_List, retdesc) =

: 704 00 1 !=== ,
s 705 ol 1! ;
: 706 Oi 1 1 This routine returns the next value in the Llist for ;
s 1707 8 1! a given parameter. :
s 708 6 1! i
;. 709 05 1 ! Inputs: |
3 110 0? 1! ;
s ™ or 1! entity = Address of parameter descriptor block

3 71; 08 1! aram_ nunber = Parameter number

T 4 09 1! {uord list = Address of List of keyword descriptors

3 ;}g }? } ; desc = Address of return descriptor to receive value

s 716 1§ 1 ! Outputs:

: 17 1 1!

3 ;}s }g } ; retdesc = Next value string in Llist

s 720 2319 2 routine value = status indicating presence of value

4 317 1 ===

: 725 318 1

B §19 BEGIN

;s 724 %0

: 1¢% 321 MAP

;s 726 32; entity : REF BB

s 127 3 keyuord list REF VECTOR

: 728 23524 retdesc”: REF BBLOCK; .
: 7%9 325 |
s 730 326 BIND

: ™ 327 wrk = ctngl dclprsown REF BBLOCK ! Address of command work area (WRK block)

3 I3 5328 prnlin = ¢ g intoun [dcl L prn[in] ! Parameter context array

3 I3 3%9 entity_contex ? intown [dcl_L entity) : VECtOR. ! Entity context array

3 ;gg 2%3? token_context = ctng clintoun Cdcl_T_Token] : VECTOR; ! Token context array

: 736 §33§ LOCAL

: 137 33 found, ! Value found flag

3 ;gg Zggg plm: REF BBLOCK; ! Address of current parameter context entry
: 740 336 !

: ;21 gg; : Set initial conditions. i
;T4 339 found = true; ! Assume value will be found i
: T44 340 retdesc [dsclw longth] = 0; ! and that the value will be null ;
: 745 gbl ctiSgl_clintown [dcl_b paran] = .param_number; ! Save lLast parameter # requested

;s 146 Ai ! (for local qualifier search) |
: 747 g& ctisSgl_ clintoun (dcl_L_quall) = g; ! C ear gqualifier context ;
;s T48 44 plm = pralim [.param_number = 1); ! Find Limits for the parameter g
: ;23 g:; ctisSgl_ clintown Edcl b_param] = .param_number; ! Update the local qualifier context E
;751 4 ' g
: 43 i Find our place in the Yoronoter value List., If the parameter does not ‘
3 ;g‘ go : appear on the command Line, see if it is present by default,

: 755 51 .plm ?ln b_fstdesc) EQL 0 ' 1f param not on command line

: 75 Si 4 THEN ] .entity Eent ™ dcffal] EGL 0) i Then if param is not defaulted

: 75 S g T.entTty [ent_v_deftruel) i

; 758 54 OR (. pln Cplm_b nutaesc GTRU ' Or if all default values have
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CO000000 NN~
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Yol el ol oo lrellol ol e llole To 1o T To 1o

(VHVFIVIVVIIVE IV IR R P R XV P P VI IV VIV VIV PR R RV [V IV WHTRIWE R Y NN DNT NN TN LS LN N TEIP WIS NN TN LN T N TP VoY)

LR TR A A R T R I R T E TR SR TR AT

12 ;‘ 1984
.‘c
1&-503-19 4

.plm [plm b_Lstdesc]))
e e fon a._ e
zero_context_arrays (0);
gs;uﬂu clis_absen{:

g Update the context if necessary.

IF .ont1t¥ context [0) NEQ .entity
THEN BEGIN
entity_context 8?] = .entity;
token_context [0] = 0;
zero_tontext_arrays (h;

the next parameter value and update the context.

F .ke‘uord_list C0J eaL 0
THEN IF .aln Cplm_b_fstdesc] EQL 0
THEN (IF Tfound = get_default_value

B o = - -

(.entity, 0, .refdesc)) EQL true

THEN plm (plm_b_nxtdesc) =

ELSE BEGIN
LOCAL token;

.pIm Cplm_b_Lstdesc] + 1)

IF iﬂén[ Im_b_nxtdesc] GTRU .plmCplm_b_Lstdesc] !

N BEGIN
plm [plm_b_quadesc) =

m [(plm_b_nxtdesc);

RETURN ci?s_absenf:'
END;

token = token_desc (.plm [plm_b_nxtdescl);
get_Epecified value (.token,.refdesc); '
fpln_b-nxtdesc] + 1; ! Set local qualifier pointer

plm [plm_b_quades-] = .plm

IF (found = get_explicit value (token, 0))
AND (. f

ound NEQ True)

already been returned
Then no value is present
Clear the context arrays
Return no value present

If there has been a change in context
Then update the context

Set the current entity context

Set the current token context

Clear the rest of the context arrays

. —— - - -

If no keyword List is specified, then if the parameter is present by default,
or has a default value, then return that default value.

Otherwise, return

! 1f no keyword List is specified
! Then, if the param value is defaulted
! Then, return that default value

' And, if this is the Last default parameter

)

'

]

|

E Then so indicate

E Else, return the explicit value

! If all values have been returned,
! Then no value is present

; Set no more local qualifiers

]

]

i Return no value found

! Get the first value token
! Return the value it marks

! Find the next parameter value
! (but not the first in the next list)

THEN ln[gln_b_nxtdosc] = table_index(.token)! If present, then point to it

ELSE BEGI
plm [plm_b_nxtdesc] =

.pIm [plm_b_Lstdesc) + 1;

RETURN true;
END;

zero_context_arrays (1);
END

the keywords.

Else indicate no more values
Force next CLISGET_VALUE to fail

But return that this value was found

! Clear the rest of the context arrays

If a keyword |ist is specified, then call process_keyword_List to check

!
1:98:38  DiSciimemASTeR-chci skeSrecLinT. 83270 (3
!
:

i

AR TR L B T T T T TR T L T P TR L T I L T P T TR T
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RPCLINT Sep=-1984 VAX=11 Bliss=32 v4&.0-74 4
VO‘-&OO 6 Seg- 84 ?g ig ;g DISKSVMSMASTER: [BCL SRCIRPCLINT.B32;1 jage 5)<
: 16 A1§ ELSE BEGIN ! A keyword List has been specified
. }g 2}‘ LOCAL default, qual, token;
: B19 415 IF gln [pln b_fstdesc] EQL 0 ! 1f the param value is defaulted present
: ? 2}? Z ELSE BEG?U L = true ; E?e set the default flag
3 ! Else
3 ; A13 4 default = false; i Clear the default flag
: 419 & token = token_desc (.plm [plm_b_fstdescl); ! Find the first param token
: 8 g 2 ? END ! :
; g 6 4 g val = 0; ! Assume first token will be defaulted Z
: g? 4 ound = process_keyword_List (.entity, keyword_Llist [0], i Process the keywords ;
: 3 2 g .token, .default, param_entity, .rétdesc, qual); f
: go 426 IF ual GTR 0 ! 1f value was not defaulted |
;. B3 427 EN plm Epln _quadesc] = table_index (.qual) + 1 i Then update local qualifier context !
: g%g 2 g ELSE plm [plm_b_quadesc] = .plm [pln_b_ls desc] + 1; ! Else allow no more local qualifiers i
I8 Bl ™
: B3 25?; RETURN . found; ! Return status
; 837 264 1 END;
OFFC 00000 PARAMETER VALUE:
.WORD Save R2,R3,R4,R5,R6,R7,R8,R9,R10,R11 : 2298
3¢ 000000006 99 36 00005 Sy BB b :
50 000000006 00 0O oooog MOVL CTLSGL _CLINTOWN, RO : 2328
57 40 A0 9¢ 0001 MOVAB  64(R0); R7 : 23%9
58 SC A0 9E 00017 MOVAB 92(R0) RE : 2330
SA 01 00 00018 MOVL FOUND : : 2339
10 BC B4 0001E CLRW anér : 2340
008F (O 08 AC 90 00021 MOVB PARAH NUHBEn 143(R0O) : 2341
78 A0 D4 00027 CLRL 120(R0) : 2343
51 08 AC DO 0002A MOVL PARAM NUHBER R1 : 2544
56 FC AO4T DE 0002F MOVAL  =4(ROTCR1], PLM :
008F €0 08 gg 82 088 3 ?Ex? PsRAH NUHBER 143(R0O) : %gg?
01 A6 95 800 B TSTB  1(PLM) ;
4 15 88838 BNEQ 3 3 5
9 D 4 INCL R9 s !
50 04 AC DO 80062 MOVL NTITV. RO : 2352 |
1C A0 BS5 00046 TSTW 8(R 3
05 12 80049 BNEQ 3 i
06 06 A0 02 51 004B B8B8(C 02. 4(RO) : 2353
02 A6 3? 1; 8852 1$: 8528 ;:LH). 2(ﬁLn) : 2355
1C 00 6E 29 2C 8853 28: MOVCS  #0, (SP), #0, #28, (R7) § 2357 |
1C 00 6E 23 2C 382% MOVCS  #0, (SP), #0, #28, (R8) : |
4D 11 00062 BRB 7% ; %;sal
06 AC 67 D1 00064 3%: CMPL (R7), ENTITY : 661
i
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RPCLINT 15 Sep-1984 X=11 §5-32 V4.0-74
V0L=000 19-3e0-1984 99:98:38 SKSVMSPASTER . [DCL SRCSRPCLINT.B32: 1 (3)*
0 68 DO 001 3 nov% WRK, RO : 2419
} 01 ae 2 } ggngL 1(PLH) R1 :
0 ronz c1:§ 35 } 3 ‘s gfxta -1622(a1)cn01 TOKEN ; ee)
84 AE 8r 1 3 PUSHAB a ; 4§§
10 AC 0D 0013c PUSHL aeroesc ; 2624
81 DD 0013F PUSHL #1 : 2423
5 BB 8141 PUSHR  #*M<RO,R2> P 2624
0C AC 0D 00143 PUSHL  KEYWORD_LIST : 2423
04 A; 0D 143 PUSHL ENTITY ;
00000000V g; 20 55 }4 gabts 07 PgSCESS KEYWORD_LIST :
« #HEH o ow
50 04 AE 68 cg 00158 SUBLS WRK, QUAL, RO P 2627
gg 064A 59 95 38}20 g?scg 1656(88) RO ;
03 A6 50 8% é} 8812% agga '5! RO, 3(PLM) ;
03 A6 02 A6 01 81 0016C 15%: ADDB3 2(PLM), 3(PLM) ; zaga
50 SA DO 0017§ 168:  MOVL rouuo, RO P 2432
04 0017 RET ;2433
; Routine Size: 374 bytes, Routine Base: DCLSZCODE + 0362
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V05080 10°8001080 19:48:98 BINRlimnAdteR st OsheSnpcLint 032: 729 (i)

3 28 2 g } ROUTINE qualifier_value (entity, qual_number, keyword_List, retdesc) =

;B4 4 ? ] lee-

: ki 4 1!}

3 z‘ 2 s } ; Return the next value in a qualifier value list.

: 84S 460 1 ! Inputs:

: 329 6 1 tity = Add f qualifier descri block

s : en =z ress of qua er descriptor bloc :
; 848 46§ 1! quol_zunber z nu0lif?er number g

; B49 4s 1! keyword_List = Address of List of keyword descriptors J
3 gg? 222 } ; retdesc = Address of return descriptor to receive value

3 !Si 447 1 ! Outputs: i
: B85 468 1! |
: 85 669 1! retdesc = Next value in Llist ;
i 17 3y 1 ti 1 tatus indicati t val |
3 ! routine value = status indicating presence of value

: BS7 5‘55 ] i . |
; 858 453 1 ;
: 859 2654 BEGIN r
: 860 455 i
: 861 456 MAP ,
: 86 457 entity : REF BBLOCK, l
;: 86 2458 keyword_List : REF VECTOR,

: B6L 2459 retdesc”: REF BBLOCK; |
; 865 460 r
: 866 461 BIND |
: 867 462 2 entity_context = ctlS?l_clintonn Cdcl_L_entity) : VECTOR, ! Entity context array ,
; 868 246 % token_context = ctlS? clintown [dcl_T_tokenl : VECTOR, ! Token context array i
: 8?3 %22? last_qual = ctlSgl_clintown [dcl_L_quall; ! Last qualifier token i
; 8n 2466 § GLOBAL REGISTER '
872 2467 block=9:  REF BBLOCK, ! Address of descriptor block l
; 873 2468 2 number=10, ! Qualifier number ,
; 874 2469 2 type=11; ! Entity type l
; 875 2470 2 r
: 876 2471 2 LOCAL §
: 877 2675 found, ! Value found flag

; 878 247 token; ! Address of token descriptor '
: 879 474 |
; 880 475 ! x 5
; 881 476 ! Set initial conditions,

$ gai 5&77 ! '
; 88 478 found = true; ! Assume value will be found

3 ggg 22;3 retdesc [dsclw_Length) = 0; ! Assume the value will not be found ,
: 481 2! |
: gg? 4a§ ! Find the Llast occurrence of the qualifier on the command Line. If the |
; 888 [ ! qualifier does not appear on the command lLine, see if it is present by

3 ggg 2'5 5 efault. If it isn't, return CLIS_ABSENT.

: N “ 9 token = local qgali!ier (.entity, .qual_number); ! Look for local occurances

; 89 & If (.token EQL 0) AND (.cntit¥ ent_v_verbl) ! 1f none, but global allowed,

; 89 “ s THEN token = global_qualifier(.entTty, .qual_number); ! Then look for global occurances

: 894 4 IF .token EQL 0 ' If still none,

; 895 2490 THEN IF NOT .entity [ent_v_deftrue) ! Then check for default presence

N L T T o T e N L T e e I N N e T T T T T R N e N T T T N e N N T T T




V05-080 1§-§:Si1332 19:28:38 I exevmemastenccoeiOshetnpeLinT 03279 (183
:
l
l
|

: 39? 491 AND NOT (.entity [ent_v_batdef] AND batch_job())

: 89 49§ THEN BEGIN If still none, then give up

; 898 49 last_qual = 0; Clear gqualifier context

: 899 494 zero_context_arrays (0); Clear the context arrays

: 495 RETURN cli$_absent; Return no value present

;. 901 599 END;

: 90 9

: 90 493 ! ,
: 904 L7 | 1f we are not doing the same qualifier as last time, then reset our context. i
3 382 gg? : theruiso. use the old context. '
: 907 SO% iF (.entite context [0] NEQ .entity) OR (.last_qual NEQ .token) ! Is context of Last call still valid? ;
: 908 50 THEN IN i No, reset the context g
;. 909 5064 tokon context [0) = 0; i Set token context .
: 910 505 entity_ context [0] = .entity; i Set entit¥ context g
;M 509 last_qual = .token; i Set qualifier context ;
: 91§ 50 zero -context_arrays (1); i Clear the rest of the arrays ,
: N 508 :
;0 914 509 '
;915 510 |
: 916 2SN i The qunlifier is explicitly, or defaulted, present. If no keywords 1
: 3}; g}g are specified, then return the explicit or default qualifier value. [
: 919 514 lF ko word_List [0) EQL O ! If no keywords were specified E
;. 920 515 IHE IF token LEQ 0 i Then, if the qualificr value is defaulted |
3 9%1 51? THEN RETURN get_default_value(.entity, (, .retdesc) ! Then, return the default value .
3 32§ 2;}8 ELSE RETURN get_next_value(.token,.entity,0,.retoesc)! Else, return the explicit value :
;. 92¢ 519 ’
3 322 gg? ' If a keyword List is specified, then process that Llist. |
: 957 52§ ELSE BEGIN ! Process the ko¥uord list |
: 928 552 LOCAL default. . Default value ;
;929 524 IF .token EQL O ! Was a qual found on the command line?

: 9 gS%S THEN default = true ! No, then use default values

;9™ 526 ELSE default = false; ! Yes, then use explicit values

: 9%2 2527 RETURN process_keyword List (.entity, keyworc_List [0], ! ®rocess the keyword list

: 933 2528 .token, .default, qual_entity, .retdeic, 0);

: 93 2559 s END;

: 935 2530 '
: 936 2531 1 END;

OFFC 00000 OUALIFIEROVALUE: !

.WORD Save RZ, -
50 ooooooogc 00 DO oogs MOVL  CTLSGL_C LgNI P 2662 |
58 40 A0 9E 000 MOVAB 66(R8). R :
59 sg A0 9E 0000D MOVAB  92(R0). R9 2463
57 78 A0 9E 00011 MOVAB  120(ROS, R7 ;2464 |
50 01 0 0013 MOVL  #1, FOUND ;2478
13 BC B4 81 CLRW  @RETDESC P 2479 |
AC D 18 PUSHL  QUAL NUMBER : 2486
56 & AC D 015 MOVL  ENTITY, R6 :
56 0D 0002 PUSHL Ré ;
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RPCLINT 16=Sep=1984 00:26: VAX=11 Bliss=32 V4.0-74 Page 29
vo&-&oo 16-503-1986 ?2,?8:38 DISKSVMSMASTER: [DCL.SRCIRPCLINT.B32;1 9 (15)@
00000000V Er 2 F 4 CALLS  #2, LOCAL_QUALIFIER : ?
A : ? 8 gagg . TOKEN : 2457;
(1] 85 A6 E 5 BLBC }(ne). 1$ :
8 AC DD 4 PUSHL  QUAL_NUMBER : 2488
56 DD 7 PUSHL R :
00000000V gr rs 9 CALLS  #2, GLOBAL_QUALIFIER .
A 00 0004 MOVL RO, TOKEN :
B D& 00043 18 CLRL R i 2489
A D 8 4 TSTL  TOKEN .
o= 47 BNEG 3§ :
D 8049 INCL R .
5 06 A6 E0 0004 BBS 'i' 4(R6), 3% t 2490
A 06 A6 03 E1 0005 BBC #3. 4(RG). 2% : 2491
00000000V EF go rg 0005 CALLS #0, gATCH_JOB ;
16 0 E8 0005C BLBS RO, 3% ;
37 04 8oosr 28: CLRL (R?) P 2493
1€ 00 6E g 2C 8821 MOVCS #0, (SP), #0, #25, (R8) i 2494
1€ 00 6E §8 2C §8ggz MOVCS #0, (SP), %0, #28, (R9) :
50 000000006 8F DO ooogo MOVL  #CLIS_ABSENT, RO : 2495
04 00074 RET :
56 68 D1 00075 3$: CMPL (R8), Ré6 : 2502
05 12 00078 BNEQ 4% :
SA 67 D1 0007A CMPL (R7), TOKEN :
16 13 80070 BEQL % ;
69 D& 0007F &$: CLRL (R9) : 2504
68 56 DO 00081 MOVL  R6, (R8) : 2505
67 SA DO 00084 MOVL TOKEN, (R7) : 2506
18 00 6E =~ 23 2C 88833 MOVCS #0, (SP), #0, #24, 4(R8) : 2507
18 00 6 00 2¢ oooss MOVCS  #0, (SP), M0, #24, 4(R9) :
06 A9 8009 ;
0C BC DS 00095 S58: TSTL  @KEYWORD_LIST : 2514
;4 1; 00098 BNEG 7% ;
A DS 0009A TSTL  TOKEN : 2515
OF 14 0009C BGTR 63 ;
10 AC DD 30095 PUSHL  RETDESC : 2516
7€ D4 000A1 CLRL  =(SP) ;
56 DD 000Ag PUSHL ng ;
00000000V EF 03 FB 000A CALLS  #3, GET_DEFAULT_VALUE ;
04 000AC RET :
10 AC DD 88A8 6%: PUSHL  RETDESC ;2517
7€ D& 0008 CLRL  =(SP) ;
56 DD 000B2 PUSHL ;
SA DD 000B& PUSHL  TOKEN :
00000000V EF 04 FB 8086 CALLS  #4, GET_NEXT_VALUE ;
04 0008D RET : 2522
5 S8 E9 ooag 7% BLBC  R11, 8% : 2524
0 1 o? 00¢ MOVL  #1, DEFAULT : 2525
5 11 000C4 BRB 9s :
D4 cg ss: CLRL  DEFAULT : 2526
E D& 000C8 9%: CLRL  =(SP) ;2527
10 AC DD 000CA PUSHL airoesc ;05 9
2 DD 8 (W) PUSHL # $ g
00 000CF PUSHL  DEFAULT : 8




~— — — e e e,

e ing eseeigs ozl

X=11 Bliss=32 v
SXSVMSPASTER - Cbe cimum 832: 129 (1)

5A DD 00001 PUSHL  TOKEN :
0C AC 0D 8003 PUSHL  KEYWORD_LIST : 2527

5? 0D 008 PUSHL Rg :

00000000V EF 07 ¢B 000D CALLS #7, PROCESS_KEYWORD_LIST 3
04 000DF RET : 2531

; Routine Size: 224 bytes, Routine Base: DCLS$ZCODE + 04D8




14 |
L RoSescioe 000 AR o e .52, )
, w

: 935 § } ROUTINE reserved_value (number, retdesc) =

: 940 b 1 !===

;941 ? 1

: 32 9 } ; Return the value associated with a reserved entity name. ,
;. 946 s 1 ! Inputs: ;
: 945 1! .
: 9% 0 1! number = Reserved word number

: 323 21 } ; retdesc = Address of return buffer descriptor |
;949 gki 1 ! Outputs: |
: 950 & 1! |
) 565 1! retdesc = Value string. ,
3 95; 546 1! i
s 95 57 1! routine value = status indicating presence of value

: 956 548 1 !==- |
;955 549 1 |
;9% 550 BEGIN ;
: 957 551 1
: 958 SSi MAP ;
s 959 55 retdesc : REF BBLOCK; 1
: 960 2556 f
;961 gsss BIND £
3 gg% §§? wrk = ctl$gl_dclprsown : REF BBLOCK; ! Address of command work area 3
;. 964 SSSB LOCAL

;965 2559 token : REF BBLOCK ! Address of curent token descriptor

3 329 §§g? string : VECTOR [23; ! String descriptor

: 968 S6§ CASE .number FROM 1 TO 2 ! Based on reserved word number

;969 256 OF SET

: 970 2564 (1]): BEGIN ! SLINE reserved word

3 3;1 %ggz token = wrk [wrk_g_result]); ! Start at first token descriptor

: 97§ 2567 & WHILE (.token [ptr_v_typel NEQ gtr_k_endline) ! Until end of command line

3 3;; %ggg DO token = .token ¥ ptr_c_Llength; ! then skip to next one

: 976 570 string EOJ = .token [ptr_v_offset]; ! Line Llength is offset to eol

3 g;‘ 22;1 string [1] = wrk [wrk_g_buffer]; ! and set address of input buffer j
s 979 §ST§ IF CHSRCHAR (.string [1]) EQL XC'S' ! If Lline is preceeded with ''$'’ 5
: 980 576 & THEN BEGIN ! then strip it off i
: 981 575 & string [0; = ,string [0] - 1; |
; 98 579 4 string (1] = .string (1] + 1; !
: 98 2577 3 ND;

: 984 578 END; |
: 985 579 |
: 986 580 (2]: BEGIN ! SVERB reserved word ;
: 987 581 LOCAL verb : REF VECTOR [,BYTE]); 1 . ‘
; 988 Sg; verb = ,wrk [wrk_L_verb]; ! Get address of ASCIC verb string

: 989 5 string 0} = MIND Y.gerb (01, 4); ! Get Length of verb

: 990 584 string (1) = verb [1]; ! Get address of verb

;M 585 END; :

;99 539

;99 5 TES;

: 99 588




RPCE&OO
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04
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: Routine Size:

retdesc

; retdesc
RETURN
1 END;

01
60

01 A0

102 bytes,

K1
6 Sep~

4

14- So

dscSw longth] = .string 8 Jj

dsc$a_pointer] =
true;

.string

1986 12:18:38

0000 00000 RESERVED_VALUE:
WORD

SE 08 2 0000;

51 000000006 00 DO 8000

01 046 AC CF 0000C

002€ 0004 00011

S0 F986 C1 9 00015

04 1C ED 0001A

05 13 0001F

50 0C €O 00021

F& 11 00024
0C 00 SF 00026

04 AE F&92 C1 9E 0002C
24 06 BE 91 00032
1€ 1; 00036
6E D7 00038
06 AE D6 0003A
17 11 0003D

50 BE A1 DO 0003F
51 60 9A 00043
04 51 91 00046
03 18 00049

51 - 04 D00 0004B

6E 51 DO 0004E

04 AE 01 A0 9€¢ 00051
50 08 AC DO 00056

60 6E BO 0005A

06 A0 06 AE DO 0005D
50 01 0O 0006;

04 0006

Routine Base: DCL$ZCODE + 0588

-
L ]

N
L L

~
o

wn
[
.

~ O
“» o

SUBL2
MOVL

CASEL
.WORD

MOVAB

VAX=11 Blis

$=32 V4.0-74

DISKSVHSHASTER (DCL.SRCIRPCLINT.B32; 1

! Return value string

Savo nothing

-] 10(R1) TOKEN

02 #4, (TOKEN), #4

012. TOKEN
3%

#0, #12, 1(TOKEN),
-2926(R1),
?graxus*& #36

STRING
STRING+4
78

-66(R1), VERB
(VERB) , 'R1
R1, #4

6$
34 R1

STRING
1(&0) sraxneoa
RETDESC,

STRING (RO)
STRING*L 4(RO)
¥, RO

STRING

STRING+4

NN O

e 32
(11)3

333 2%




14 |
RPCLINT 16-5ep=1984 00:26: VAX=11 BLiss=32 Vé.0=74 page 33|
V04=000 10-80001080 99:98:38 YANcdinonistRZ e, OcRe RPCLINT.B32; 1 "(13);

3 }881 gg } ROUTINE verify_entities (entity_desc, array) : entity_Linkage =

: 1oo§ 96 1 !==e ;
: 1886 97 1! ;
: 1005 98 1! v?rif¥ that all the specified entities really exist.

3 1009 599 1! Fill in the keyword descriptor arrag. Return the address 1
3 }888 gg? } : of the descriptor corresponding to the first entity. g
: 1009 602 1 | Inputs |
: 1010 603 1!

: 101 604 1! entity_desc = Address of entity name descriptor

3 }8}; g S } : array = Address of keyword array

: 1014 609 1 | Outputs:

: 1015 608 1!

: 1019 609 1! block = Address of first entity descriptor

: 10 610 1! type = First entity type

: }8}3 2}1 } : number = Parameter or qualifier number

: }82? g}% } : routine value = True if found, else error code

; }8;% %2}5 } : If entity not found, an error is signaled.

: 1024 gen? 1

: 1025 618 BEGIN

3 1056 5619

: 1027 650 MAP

: }823 5221 array : REF VECTOR; }
M |
: 10%0 265% BIND |
: }8%1 Zg g wrk = ctlSgl_dclprsown : REF BBLOCK; ! Address of command work area

: 103§ goge EXTERNAL REGISTER _

: 1034 6%7 block=9: REF BBLOCK, ! Address of descriptor block

: 1035 2628 number=10, ! Parameter/qualifier number

: }8;? Zggg type=11; ! Entity type

: 1038 631 2 !

3 }823 2§§ ; If we don't have a valid set of tables to search, exit with failure

; 1041 634 IF .ctlSgl_clintown [dcl_v_nowrkareal ' ! If invalid tables

3 }82% 3235 THEN RETURN msg$_noentity; ! Then exit with failure

P 1044 6 ' |
: }8:5 g g ; Convert the linear keyword List into a more usable keyword array. '
: %gzz gz? return_if_error (convert_keyword_list (.entity_desc, .array)); ! Convert into a keyword array |
1049 64 ' |
: }82? gz‘ ; Find the first entity. |
; 1OS§ 645 IF NOT (find_main_entity (array [0))) ! If we can't find the first entity |
: }82‘ gz THEN return_if_error (guess_entity (array [0))); ! Then lLook around for it

1055 648 2 ! :

: }829 ggg ; If entity was successfully found, then verify the keyword list.
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; Routine Size:

VI
000
o

M 14
16=-Sep=-1984 00:26: VAX=11 Bliss=32 V4.
14-509-195& ?g:igzig DISKSVMSMASTER:[DCL
651 IF ,array [2] NEQ O ' If a keyword list
6 ; THEN zoturn_if_error (verify_keywords (.block, .typt ! Then vegify it
g { array 2);
625 RETURN true;
656 END;
0004 00000 VERIFY_ENTITIES:
LWORD Save R2
S0 000000006 00 0O 0000 MOVL CTtsGL CLINTOWN, RO
08 008C CO E9 0000 BLBC 140(ROY, 1%
SO 000310FC  8F 82 088?5 =g¥L #200956, RO
52 08 AS 00 80016 1$: MOVL ARRAY, R2
52 0D 0001A PUSHL R
046 AC 0D 0001C PUSHL ENTITY DESC
00000000V Sf 02 FB 0001F CALLS #2, CORVERT_KEYWORD_LIST
1 50 E9 800 6 BLBC STATUS, 4$
S2 0D 00029 PUSHL R2
00000000V EF 21 FB 800 CALLS #1, FIND_MAIN_ENTITY
0C 0 E8 000 BLBS RO, 2%
$2 0D 000 PUSHL R
00000000V EF 01 fB 800 7 CALLS #1, GUESS ENTITY
19 50 E9 0003¢ BLBC STATUS, 4%
08 A2 Dg 00041 2%: TSTL (R2)
11 13 00044 BEQL $
08 A2 9F 00046 PUSHAB 8(R2)
0A00 8F BB 00049 PUSHR #*M<R9,R11>
00000000V EF 08 FB 0004D CALLS #3, VERIFY_KEYWORDS
03 50 E9 00054 BLBC STATUS, 4$
50 01 DO 00057 3%: MOVL #1, RO
04 0005A 4%: RET

91 bytes,

Routine Base:

DCLSZCODE + 061E

0-74 P
.SRCiRPCLlNT.B32:1.°'

is present

AR ATETETETETETETEPE PR TR PR PR PR PR PR PR PR TR FE TR U T

1

8

|
|
|
|
|
|
|
{

594
634

2635
2640
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e e e e e e et - =]

: }065 2§7 ROUTINE find_main_entity (name): entity_lLinkage =

3 1§§? 6 g leee

: 1068 660

: 1069 661 ! Locate a parameter, qualifier, or reserved entitz by entity name

: 1070 66; | string and return the address of the entity block corresponding to

: 10N 66 ' that entity.

: 107§ 664 !

: 107 665 ! Inputs:

: 1074 66? :

s 1075 66 : name = Address of entity name descriptor

: 107? 668 !

: 107 669 ! Outputs:

: 1078 670 !

: 1079 671 ! block = Address of entity block

: 1080 67; ! type = Entity type

: }831 2;4 E number = Parameter or qualifier number ;
: 108§ 675 ! routine value = True if found, else false

; 1084 676 : )

: 1085 677 ' If entity not found, an error is signaled.

: 1086 678 lew=

: 1087 2679

: 1088 2680 BEGIN

: 1089 2681

s 1090 568 MAP

: 1091 68 name: REF BBLOCK;

: 109§ 684

: 109 685 BIND

3 }ggg ggg wrk = ctlSgl_dclprsown : REF BBLOCK; ! Address of command work area

: 1096 688 EXTERNAL REGISTER

: 1097 2689 block=9: REF BBLOCK, ! Address of descriptor block

: 1098 2690 number=10, ! Parameter/qualifier number

: 1099 2691 type=11; ! Entity type

: 1100 69

: 1101 69 LOCAL

: 110% 694 entity_name: VECTOR [2) ! Descriptor for above buffer

: 110 695 buffer? VECTOR [32,BYTE], i Buffer for upcased entity Label

: 1104 699 ptr: REF BBLOCK; ! Pointer to scan reserved word table

: 1105 69

: 1106 698 ! .
3 }}8; 998 ; Upcase the entity name string {
: 1109 701 entity_name [1] = buffer; ! Point at buffer ;
3 }}}? ;8 upcase (.name, entity_name); ! Upcase the string i
H |
2 111§ 704 - i
: }}g‘ % Search parameter and qualifier Lists for entity. g
: 1115 block = .wrk [wrk_L_proptr); ! Get address of first block |
3 }}}9 type = param_entity; ! Assume parameter entity will be found ;
: }}%3 gglkscgﬁrue) ; Search parameter and qualifier Llists

: 1150 IF (find_entity (entity_name)) i Search ontit¥ List

2 THEN RETURN true; ! Return true 1f found



el

N LS = O O 00 NN S WY

i

zﬂo guol entity

bloc = .urk wrk_L_quablk];
tnge = qual_entity;

)
; Search the Llist of reserved entity names
number = 1;

ptr = reserved words;
type = reserved_entity;

WHILE (CHSRCHAR(.ptr) NEQ 0)
DO BEGIN

IF CHtEOL(.ontit‘ name (0] .ent1t¥ na?e 1],

CHARC, ptrs. .ptre¢
THEN RETURN true;
ptr = CHSRCHAR_A(ptr) + .ptr;
gznber = .number ¢+ 1;

ETURN false;

-Sep=-1984

RtHIE
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L 2t ad 2L o

B AS LAS TS LN TV TV WV TV [V IV LN LS TN TN LN TN LN LN LN IV VTV V)
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N L N A A N L N A PO PO PO PO N PO RO PORUN) — b ed b b b

00 NON W S N = O O 0O N N 3 IN) = OO0 0 IO Vv s

NN = OO0

00000000V

00000000V

003C 00000 FIND_MAIN EN;ITY
55 000000006 00 9E 00002 MOVAB
S5E 28

AE 6E O
80 af 0

4 0

65

(6 A0

0

20

®OO™

1%: PUSHAB

CA

2%: MOVL
F938

wVivaAwa oo Orom wvvaoaaoam

@ Do mm.m

3s: 1ST8

W
o
NO =2 POO VO =000 —-=OMNPOOO ‘“Ooxﬂ

O P WNOMO =000 W=—000 N"OOODMO "MMN)
OOOOOOOOOQOOOOOOOOOOOOOO
(=lealeleleleleleleleleleleleelelelelelelelelele]
WAIWAES IS 55 55 BN AN NN NONON) = — b S O O
NI NNOODBVINO M ONS = YIS OO MNO MO

=

o

<

-

>PO==0O0OMO P oOOWVIVIO D
MEBEOV NN LNINNOWVOI DO =M -

20

liss=32 s
MASTER: (DCL SRC RPCLINT.B32; 1
L

ifiers alroody searched,

! then exit the loo

! Get address of first qualifier block
! lndicatc qualifier entity

1
VMS
qua

! Start at first reserved word

' Point to beg nning of table

! Assume entity will be found
Until end of table

If this is the entity requested
then return success

Skip to next reserved word
Increment reserved word number

! Return unsuccessful

Save R2,R3,R4,RS

HK' Rs

#40

aurfen ENTITY_NAME +4
enrérv NAME

#2, UPCASE

WRK, RO

-saiao»é BLOCK

Enflrv NAME
EIND ENTITY

n
tvﬁe. #?2
4

WRK
-SAIRO)é BLOCK

NUMBER
§§ERVED WORDS, PTR

(Pfa)

6$
(PTR), RO
ENTITY NAME, QENTITY_NAME+4, #0, RO, 1(PTR)

AR LR LR LR L L L T R TR TR TR TR
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Page 37
DlSKSVHSﬂASIER:[DCL.SRCERPCLINT.032:1 ’ (13),

:

1
1
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NOTKCXO OV~ ITI
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OO OV

01

50
0
54

DCLSZCODE + 0679

115 bytes, Routine Base:

; Routine Size:
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16=5ep=1984 00:26: VAX=11 Bliss=32 V4.0-74 Page 38
14-Sep=1984 ?g:igzgg DISKSVHSHASTER:[DCL.SRCiRPCLlNT.832:1 . (14)

} ROUTINE verify_keywords (input_block, input_type, keyword_Llist) =

1 !--.

Y 3

1} Verify a keyword path from the olread[ found main entity.

} ; (FIND_MAIN_ENTITY should always be called before this routine.)

} g Inputs

1 input_block = Address of entity descriptor block

1! input_tyfe = Type of entitz

} ; keyword_list = Address of keyword name descriptor list

} g Outputs: |

} g routine value = True if found, else error code |

} g If entity is not found, an error is signaled.

g |
BEGIN t
MAP |

keyword_Llist : REF BBLOCK; .
GLOBAL REGISTER

block=9: REF BBLOCK, ! Address of entity descriptor block

number=10, ! Parameter/qualifier number

g type=11; ! Entity type
LOCAL

status;
5
; Set up registers for find_keyword_entity().
block = ,input_block; ! Set block to entity descriptor .
type = .input_%type; | Set type to entity type

2 number = 0; ! Clear number
i
; Return error if entity is a reserved entity. |
iF .type EOL reserved_entity ! Is entity a reserved entity?

THEN status = msg$_noentity ! Yes, then error
]
! Search down the keyword path name. Validate each keyword entity block
; along the way.
" ELSE DO BEGIN , b

4 IF NOT (status = find_keyword_entity(.keyword_List)) ! Validate the current keyword
THEN EXITLOOP; ! Exit if invalid
Eaguord,list = .ﬁeyuord,list + 8; ! Get the next keyword
UNTIL (.keyword_Llist [dscSw_length] EQL 0); ! Quit when no more keywords
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RPCLINT 15-50 -1 VAX=11 Bliss=32 v 39
vo«-&oo 14=Sep~- 1334 ?g fg §§ DISKSVMSMASTER: [ SRCSRPCLINT B32;:1 fage (14)
: 1582 188 %1 signel
$ ! nal any errors.
: 1503 79 3| v d
;s 1208 79 IF NOT .status ! 1f some keyword was invalid
: 1209 00 THEN SIGNAL (msg$_noentity,1,.keyword_List,cli$_entnf); ! Then signal the error
: } }? 81 RETURN .status; ! Return the status
: 1212 Og END; |
OEOC 00000 VERIFY_KEYWORDS: i
.WORD Save R2,R3,R9,R10,R11 : 2739
59 06 AC 00 0000¢ MOVL INPUT BLOCK BLOCK : 2775
58 08 AC DO 00006 MOVL INPUTTTYPE, TYPE : 2776
SA D& 0000A CLRL NUMBER : 2777
03 58 D1 0000C CMPL TYPE, #3 : 2782
09 12 0000F BNEQ 1$ :
53 000310FC 8F DO 00011 MOVL #200956, STATUS ; 2783
1F 11 00018 arE 3$ :
52 0C AC DO O001A 1$: MOVL KEYUORD LIST, R2 : 2790
52 0D 0001E 2%: PUSHL R2 3
00000000V EF 01 fB 000%0 CALLS M, FIND KEYWORD_ENTITY s
53 50 00 00027 MOVL RO AT0S :
OF 53 E9 8002A BLBC STATUS 43 s
0C AC 08 CO 00%0 ADDL2 #8, KEYWORD LIST : 2792
52 0cC AC DO 00031 MOVL KEYUORD LIST, R2 : 2794
6; BS 00035 TSTW (R2) :
g 15 00037 BNEQ 2% :
18 3 EB8 00039 3%: BLBS STATUS : 2799
000000006 8F DD 0003C &4$: PUSHL  #CLIS éumr : 2800
0C AC DD 0004§ PUSHL KEYUOR D_LIST :
01 0D 0004 PUSHL M 3
000310fC 8F DD 00047 PUSHL  #200956 :
000000006 00 gk FB 0004D CALLS #4, LIBSSIGNAL :
50 3 DO 00054 5%: MOVL STA US, RO : 2801
04 00057 RET : 2803
; Routine Size: 88 bytes, Routine Base: DCLSZCODE + 06EC
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SN =2

000000 0000
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F 15 |
16-Sep=1984 00:26: VAX=11 Bliss=32 v&.0-74 Pa 40
14-503-133& ?g:igzig DlSKtVHSHASTER:[DCL.SRCiRPCLlNT.B32:1 ge(1S)r
ROUTINE find_keyword_entity (keyword) : entity_Linkage = |

- |

Locate the keyword entity block specified by the next keyword
descriptor in the Llist.

Inputs:
keyword = Address of keyword name descriptor

block = Address of entity descriptor f
type = Entity type t
number = Parameter or qualifier number

]

;

;

i

i

i

i

i

i

: Outputs:
i

i

i

i

; routine value = True if found, else error code
]

- - |

BEGIN

EXTERNAL REGISTER :
block=9: REF BBLOCK, ! Address of descriptor block }
number=10, ! Keyword number g
type=11; ! Entity type |

BIND
wrk = ctlSgl_dclprsown : REF BBLOCK; ! Address of command work area

LOCAL
buffer : BBLOCK [32], ! Buffer for upcased keyword lLabel
keyword_name : BBLOCK [dsc$c_s_bln]; ! Descriptor for lLeyword lLabel

]
; Get and upcase the keyword name string.

keyword_name (dsc$a_pointer] = buffer; ! Point a* buifer ,
upcase (.keyword, kéyword_name); ! Upcase the string

] |
! Get the first keyword entity block. If none, then exit with error.

; It successful, then calculate the block address and search for the keyword.

IF .block [ent_L_user_typel] EQL 0 ! Get the first keyword entity block
THEN RETURN msg$_noentity; ! If none, then exit with an error

block = .block [ent_L_user_typel ¢ ,wrk [wrk_L_tab_vecl; ! Calculate its absolute address

block = .block [ent L next] + .wrk furk_l_taﬁ,vec]; ! Skip list header

gsguau find_entity Tkéyword_name); ! Search for the keyword

0000 00000 FIND_KEYWORD_ENTITY:
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88 1
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00000000V  EF 01 B
04 0
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ROUTINE find_entity (name) : entity_Linkage =

BIND |

wrk = ctl$Sgl_dclprsown : REF BBLOCK; ! Address of command work area

i
0 gg i Locate an entit[ bl entity name string and return the address
;1 2? E of the entity block corresponding to that entity.
7 6; i Inputs:
74 86 !
;S ggg ; name = Address of entity name descriptor |
7 6 i Qutputs: '
78 o B8 B B |
79 868 ! block = Address of entity block
80 869 ! type = Entity type ;
gl g;? E number = Parameter or qualifier number
Bg g;; g routine value = True if found, else error code %
874 > |
875 BEGIN
87? ’
87 MAP
878 name : REF BBLOCK;
879
880
i
83

EXTERNAL REGISTER

WA A AN NN N NN A NN N NN NN N A NN NN NI NN NN NI NI A NI NINININOND)

- lh b i e i D e e e D D ) b ) i i i D D anld D e D i D D D el D i D e i D i D D
o000 0 O O O O O OO O 0000 OO 0o

WNWNWWNWWNNWWW

0D 0D 00 O 0o 0o 00 O 00 0o 00
ooooooumog
= OO0 YO W
NN S 85 85 25 3 W 8 LI AN WAND N RO R NI NI A NI NI NI NI NI A NI NINI NN =B b b ed e e e e b b o o b o o o o o e ed
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block=9: REF BBLOCK, ! Address of descriptor block ,
number=10, ! Parameter/qualifier number f
type=11; ! Entity type ;
LOCAL |
Label_string;
number = 1; ! Start at entity 1
304 WHILE (.block NEQ 0) ! Until end of entity List
305 894 DO |
306 895 BEGIN .
1;07 899
} gs lg Label_string = .block ¢+ .block [ent_w_Llabell; ! Get label address
1310 93 IF (.nameldscSw_length] EQL CHSRCHAR(.label string)) AND ! Check length and 1st char..
131 900 (CHSRCHAR(Tnameldsc$a_pointer)) EQL CHSRCHART.label_string+1))
121; 901 THEN
AR ey
1§15 904 IF CHSEQL(.name [dscSw_length], .name [dsc$a_pointer], ! If this is the one we are looking for
1;16 905 CHSRCHAR_A (label_str‘ng). .label_string, 0) s
} }7 389 E:EN RETURN true; ! then return success
1313 908 IF .block Cent_L_next] NEQ 0 ! 1f not end of List
1320 909 THEN block = .Block [ent_L_next) + .wrk [wrk_L_tab_vec]) ! then skip to next block
1321 910 ELSE RETURN msg$_noentity; ! else terminate loop
1522 911 number = .number + 1; ! Increment entity number
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: 1323
: 1524
: 1525
;s 1326
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; Routine Size:

?

N
91§ ?
914

15

9

00

59

81 bytes,

END;
RETURN msg$_noentity;
END;
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Routine Base:
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003C 00000 FIND_ENTITY:
WORD

01 00 MOVL
T 88§8§ RovE
g D 80 09 1$%: TSTL
g 0008 BEQL
18 A9 3C 00000 MOVZWL
59 80 00011 ADDL 2
65 9A 00014 MOVZBL
S0 81 00017 CMPVY
17 12 0001A BNEG
06 B4 91 0001C (MPB
10 12 00021 BNEQ
85 9A 800 3 MOVZBL
64 2D 00026 CMPCS
65 0002C
04 15 00020 BNEQ
01 8 0002F MOVL
4 000 g RET
08 A9 Dg 00033 2%: TSTL
11 13 00036 BEQL
000000006 00 DO 80038 MOVL
DE A0 C1 0003F ADDL3
SA D6 00045 INCL
C0 11 00047 BRB
000310FC 8F DO 00049 3%: MOVL
04 00050 RET

DCLSZCODE + 0784

AX=11 Bliss~32 V‘.O-?‘i Pg
ISKSVMSMASTER:[DCL.SRCIRPCLINT.B32;1
H

Save R2,R3,R4,RS

#1, NUMBER

NAME, R&

ggocx

4(BLOCK), LABEL_STRING

BLOCK, LABEL STRING

(bABEL STRING), RO

gs. (R%)

g:(ﬂ4). 1(LABEL _STRING)

(LABEL_STRING)+, RO
(R4), 34(R4), #0, RO, (LABEL_STRING)

2$
#1, RO

8(BLOCK)

3%

WRK, RO

=34(R0), 8(BLOCK), BLOCK
NUMBER

1$
#200956, RO

e 63'
(16)

|
|
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3 } g g}s } ROUTINE guess_entity (array) : entity_Linkage =

1 R e

P g 920 1} Locate a given entity (or List of entities), that na‘ be at any ?
3 921 1! level, by entity name string. Fill in the array with the keyword |
3 } : g g } E path that we found. Search qualifiers first, then parameters. |
i1 926 1 | Inputs: |
$ 1 925 1! |
: 1538 9 13 array = Address of keyword array .
: 1339 9 1! !
: } ? 3 s } ; Outputs: i
i kg 930 1 i block = Address of entity descriptor |
: 1 931 1! type = Entity type I
3 } g 3 i } ; number = Parameter or qualifier number |
: } 9 352 } g routine value = True if found, else error code ?
;1348 939 1 i 1f entity not found, an error is signaled. |
: 1349 937 1 iee- |
: 1350 938 1 e
: 1351 939 BEGIN

: } gi 32‘1’ MAP

: 1%54 94 array : REF VECTOR; |
: ng 324. BIND

; }gg; gzz wrk = ctlSgl_dclprsown : REF BBLOCK; ! Address of command work area

: 1359 947 2 EXTERNAL REGISTER

: 1360 948 block=9: REF BBLOCK, ! Address of descriptor block

3 }361 §3§3 nunboq;10. ; Ea::got:r!qualificr number

H type=il; . En y type

; }§§§ 321 LOCAL,p

: 1365 §9s§ found, |
: 1366 954 buffer : BBLOCK [32], ! Buffer for upcased keyword label ;
; 1367 955 keyword : BBLOCK [dsc$c_s_bln]; ! Descriptor for keyword lLabel =
e g g

: }3;? 323 2 Get and upcase the keyword name string.

I 7; 960 2 keyword [dsc$a_pointer] = buffer; ! Point at buffer

;s 137 961 upcase (.array, keyword); ! Upcase the string

: 1378 %8 51

; } ;9 ggg g Check the qualifier entity descriptors first. i
; 1378 969 block = .wrk Cwrk_L_quablk]; ! Get first ?ualifier entity block |
3 } 79 gg type = qual_entity; : ! Set qualifier type

;138 9?3 WHILE (true) ! Search qualifiers and paramters

: 1;8; 970 PO BEGIN ! ;

; 138 971 number = 1; ! Set first entity

; 1384 972
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=

3 Y 973 & WHILE (.block NEQ 0) ! Check each entity in the List
3 } 3;3 2 DO BEGIN !
E 1 97 IF (found = guess_keyword entity (keyword, .block, 2, ! Is keyword down this path?
: 1389 97? 2 ’ argay EOS)) g . ! y p
: } g? 3;3 2 THEN RETURN true; ! Yes, then stop looking
: 1 9§ 980 & IF .block Cent_L_next] NEQ 0 ! 1f more entity blocks
: 139 981 & THEN block = Tblock [ent_L_next] ¢ .wrk Cwrk_L_tab_ vec]' Then calculate address of next
3 } gg gli 2 ELSE EXITLOOP; ! Else quit this loop
: 1 984 & number = .number + 1; ! Increment the entity number
: 1338 985 ND; i ’
: 1398 9
: 1399 GB !
3 }28? 333 ; Check the parameter entity descriptors.
: 140% 990 Ege EOL aran entity ! If parameters already searched
: 140 991 EXITLOO ! then exit loop
; 14604 99§ lock = .wrk [wrﬁ L_proptrl; ! Get first parameter entity block
: 1405 99 t‘B' = param_entity; | Set parameter type
: 140¢ 994 !
: 1407 995
: 1408 996 !
3 }:?8 gg; ; If keyword was not found, then signal an error;
: 1411 999 SIGNAL (nsgs noentity, 1, array [0],cli$_entnf);
: 1&1; 000 RETURN msg$_noentity;
: 14 3001
R A 3002 1 END;
0004 00000 GUESS_ENTITY:
.WORD Save R2 ; 2916
52 000000006 go 9€ 00002 MoV HRK. RZ 3
SE 8 (2 00009 SUBL #40 -
04 AE 08 AE 9E 0000C MOVAB aurfen KEYWORD+4 ;2960
SE 0D 00011 PUSHL SP : 2961
04 AC DD 80013 PUSHL ARRAY :
00000000V EF 02 FB 00016 CALLS #2, UPCASE 3 |
50 62 D 0810 MOVL WRK, RO : 2966
59 CA A0 DO 00020 MOVL -sdnm BLOCK : |
1 02 D0 00024 mOvL 42, YPE ;2967 |
SA g1 D0 00027 1%: MOVL NUHBER : 2971
9 DS 0002A 2%: TSTL akéc : 2973
A 1 08 C BEQL 4 :
04 AC DD 0002E PUSHL  ARRAY : 2977 |
gs oD 00031 PUSHL #2 :
oD 000 ; PUSHL BLOCK -
0cC AE 9F 00 PUSHAB KEYWORD s 2976
00000000V EF 24 fg 0 CALLS #4, GUE S _KEYWORD_ENTITY : 2977 |
4 0 E f BLBC FOUND 3
0 01 00 o:.g MOVL . RO : 2978
04 0004 RET :




]
|

V04-000 §§:82133:. 1098138 DISKiUMSRASTER S cOci TshcanpeLinT.032: 1% (¥

08 A9 ? 43 3$: TSTL B(BLOCK) : 2980
51 2? 53 00048 ROVL R1 : 2981
59 08 A9 DE Al C1 AE ADDL3 -34(n1) 8(BLOCK), BLOCK ;
SA o? ; INCL™  NUMBER ; 2984
gz 11 00 g BRB 2$ . 2973
01 8 o; 58 4$: CMPL  TYPE, M : 2990
os 1 5B BEQL 5% :
51 3 °8 5D MOVL  WRK, R1 P 2992
59 6 A1 DO 00060 MOVL  =-58(R1), BLOCK :
58 01 DO 00064 MOvL  #1, TYRs i 2993
ge n 80067 BRB 1% : 5969
000000006 8F DD 00069 5%: PUSHL  #CLIS_ENTNF : 2999
06 AC DD ooogr PUSHL  ARRAY™ :
31 0D 00072 PUSHL M :
000310FC 8F DD 00074 PUSHL  #200956 ;
000000006 00 04 FB 0007A CALLS #4 LzassxcuAL :
50 000310FC 8F DO 00081 movL #2009 : 3000
04 00088 RET : 3002
; Routine Size: 137 bytes, Routine Base: DCLSZCODE + 07DS
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ROUTINE guess_keyword_entity (keyword, block, level, array) =

s =
STE

Locate the keyword entity block specified by the next keyword
descriptor in,tho l’st. y 4 ’ ‘

name = Address of keyword name descriptor
block = Last entity block

level = Depth of searﬁh

array = Keyword descriptor array

Outputs:
array is initialized

If entity is not found, an error is signaled.

block : REF BBLOCK,
array : REF VECTOR

i
I
|
routine value = True if found, else false E
|
|
s
E
l
keyword : REF BBLOCK: %

D
wrk = ctlSgl_dclprsown : REF BBLOCK; ! Address of command work area

LOCAL
keyword_label : REF VECTOR [,BYTE]); ! ASCIC entity name from tables

i Get the first ke word entity block. If none, then exit with error.
; If successful, then calculate the block address and continue.

IF (.block [ent_L_user_typel EQL 0) !
(.level EQL™2*(dcl_c_context + 1)) '

THEN RETURN false; :
block = .block Eent_l_user typel + .wrk [wrk_L_tab_vec]; '
block = .block [ent”L next] + .wrk [wrk_l_tab_vec]: !

]
; Starting with this block, search the keyword List for the specified keyword.

gglggsgﬁblock NEQ 0) ! Continue until an exitloop
keyword_label = .block + .block [ent_w_label]; i Get keyword label

If no more keyword entity blocks

or too deeply nested

Then exit with an error

Calculate the address of the first block
Skip List header

]
! If we find the keguord here, then we are at the deepest point in

! the search. Shift the Lefotover keywords into the array at the ‘
! appropriate level. ?
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[olel=]

w AN A AN AN A A A AN N AN A AN
o OO00000O0O0O00O0O0OO0O0O0O00
S W@OP®NNNNNNNNININC T
= PININI AN NN N NN N B S 85 B LN NN N NS 55 5 8~ 85 5 SN0 5 5 5 S~ Wi

IF CHSEOL (.ke uord EgicSu Llength ugrd [dscSa_pointer],! Is it the keyword we want

I
. e‘uor kéyword_ labol E1 |
EN Yes, then fill in the array I
LOCAL t_Llevel;

t_level™= 1; ! Set level to start search at
HHILE (( t level tso del c e

800'0“

OOV NO NS AN = OO0 NN N - O

xt) ! Count number of levels of keywords
" - e o NEQ 0)) . f

SRR ARAREE ISR

(Carray
0O t_ lovol = .t_level + T; !
IF (dcl_c_context = .level/2) LSSU .t_Llevel ! 1f they won't fit in the leftover space
THEN REIURN false; ! Then exit with an error
CHSMOVE (4*2+.t_level, array (0], array [.levell); ! Shift the keywords over
ESEURN true; ; Exit with success

! at an intermediate level. Just insert the current keyword at the
5 appropriate level.

IF guess_keyword_entity (.keyword, .block, . el + 2,

I1f the keyword is found deeper down
array E

AT A L 2E 2l 2l 2L 2 I 2L 23T 2t 2t 2t F 2L 2F o

BLRRRA028

THEN BEGIN

array [.level] = .keyuord Label [0]; Then insert the current keyword

array [.level + 1] = keyword_label £13; into the array

RETURN true;

I

|

|

l

! 1t the keyword is found further down the tree, then we are currently !
|

|

|

|

Exit with success ,

LR TR TN T o R L A T R R R A A R T L L e e A T L T LU

— e e ) i D ) D e e el i il D D il D D i D D D D i D D i D D i il D el D el D i D

4
(A
4
S
50 088 END;
SO§ 089
50 090 ! 1
ggg 3831 ; I1f no match, but more blocks, then keep looking.
506 309 IF .block [ent_L_next] EQL 0 ! Are there more entity blocks?
507 3094 TNEN RETURN  false; ! No, then error
508 3095 block = .block Cent_[_next] + .wrk Cwrk_L_tab_vec]; ! Yes, get next
509 3096 END; !
510 097
511 098 RETURN true; ! No-op
512 END; ,
i
OFFC 00000 GUESS_KEYWORD_ENTITY:
.WORD™ Slvc R2,R3,.R4,R5,R6,R7 ,R8,.R9,R10,R11 : 3003 |
58 000000006 oo 9 oogg MOVAB R11 : :
51 03 00 000 MOVL akotx R1 : 3043 |
1 A1 ? 080 TSTL 3 {
04 001 BEQL 1$ F
10 0cC A§ 01 0001 CMPL EVEL, #16 : 3044 |
0 1? 0016 1% BNEQ $ 3 %
00AC 3 1 BRW 0s . 1
50 68 D? 18 2%: MOVL WRK, RO : 3046
08 AC 10 Al 85 A0 C 15 ADDL3  =34{RO), 16(R1), BLOCK :
51 AC DO 0002 MOVL BLOCK, R :

3047 |
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; Routine Size:

AC

00

51

52

9E

AC

202 bytes,

08 Al E AD
9 & AC
B
S s B
g 18

5

0 6

% B9 86 8
i

50 él
07 0

OE

50 01

10 BC41

04
50

ED

31 0oc A

31 0

32 0
32 32
50 5;

4
50 08

10 BC4]
10 BC Qg
J

1 AC

0440  8F

06 AC

FF63 CF 04
1 50

10 BC47 68
50 10 BC47

66 A0 01 A8
12
08 A6

1

50 68
08 A6 DE _AD
FF79

50 o

wn
o

Routine Base:
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o0
OO
O oo

o
>
W

S S O==20uLWWNMMPODODO 20N MNDBMOINO =N S=ON) OB OIWHOMOO—
o

o e e e om0l e e lelelelelelele e lilelelelelelelelelel=]

OVOVWMNO =0 = Q0O OMMODO =2NOM =0 MIMO =0 0O NESOOD = NOMIWN—=OOOON
OOOOQOOOOOOO80°°°°°°°°°°°

>

o

[el=lelelelel=l=]

DCLSZCODE + 0BSE

s
UL

VN =
oo

Vo

4%:

5%:

6%:

7%:
8%:

e

o8 99:18:98 I

Bliss=32 V4
=34 (RO), R1), BLOCK
KEYWORD, R9

Ev;L. R7
(R7), R10
kOCK. R6

24(R6), KEYWORD LABEL
R6, KEYWORD LABEL
(KE YWORD _LABEL)

RO
SKEYWORD, @4 (R9S, #0, RO, 1(KEYWORD_LABEL)

6$
#, T _LEVE
T_LEVEL, #
5%

#, T_LEVEL, R1
3A§RA7tR1§

5%

T_LEVEL

43

LEVEL, R1

i

., Ri, R2
#7. R

1

#8, RO
@ARRAY[R1]

3?, @ARRAY, @(SP)+

ARRAY
#*M<R6,R10>

KE YWORD

;3. ggfss_xevuoao_entlrv
(KE YWORD sAasL). SARRAY[R7]
@ARRAY[R7], RO
;;xEYUORD_LABEL). 4 (RO)
8(R6)
10%
WRK, RO

#1, RO

RO

wi . .0-74§ Pa
KSVMSMASTER: (DCL.SRCIRPCLINT.B32;1
8¢

L R L R R L R T I o A A T T T S TR A AR TR T ETLET R T E T Ay

e 49
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3082

3052
3054
3062

3085
3086

3087
5093

3095

305
309

3099
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ROUTINE process_keyword_List (entity, keyword_List, token, default,
keyword_type, retdesc, qual) =

Determine if the specified keywords are present.

l=lelelelelsle]
OO0 NS N = O

(=lele]

)
]
|
]
]
)
' entity = Address of prinarl entity block

' keyword_List = Address of List of keyword descriptors

! token = Address of first param value token or actual qualifier token

: default = True if only checking default values (token is invalid)

! koyuord_tyge = Param_entity or qual_entity dofending on type of keywords
' retdesc = If specified, then we are doing a CLISGET_VALUE -

! use and nodify context and return the requested value

! qual = Address of first possible address of qualifier token

: (requested by parameter_present and parameter_value)

]

]

]

]

]

|

WA = O 000N WS NN = OO0~V

i Outputs:

vy S

retdesc and qual are updated
routine value = status indicating presence

MAP

entity : REF BBLOCK,
keyword_Llist : REF BBLOCK,
token : REF BBLOCK

retdesc : REF BBLOCK:

CONO WIS WN = OOV NS AN = OV~ VS NN = O

VIVVWIWVIAWWVIVIVASS SN SS BN awwug

VAWM AVIA A T ATTA N AT AT AT AT VTN TN AW AWV UMWV
SO“ NOWVS NN = OOV NO WV WNN 2OV~

BUILTIN
NULLPARAMETER;

GLOBAL REGISTER ;
block=9: REF BBLOCK, ! Address of descriptor block
number=10, ! Parameter number
type=11; ! Entity type

BIND
entity_context = ctlS?l,clintoun Cdcl_L_entity] : VECTOR, ! Entity context array
token_context = ctl$gl_clintown [dcl_T_%okenl : VECTOR, ! Token context array
last_qual = ctl$gl_clintown [dcl_L_quall; ! Last qualifier token

— o ol el el s i el il ) i cdd D D e ) i D D i D il il D i il Al D e el D D ) el D D D el D ) D D D e ] D D D ) el D D el el el

AN A A AN A A A N A L L N Ll L L L 0 N A 6 0 L 0 L A A o L L A A A N N N A A A A A N NN N AN

— ) il ol el i il ) D D il il ) - - il -l -l b b b b -l ) b -l ) - il D B D il D D D D el ) D D D D il i ) - ) i el D e i il -

WAAVAVIWSANAWA LSS 85 85 85 8 8 8 5 8 5 N NN AN N NN AN NN N NI PO PO NI PO NONIND b b b cd b e ed s d

MOAINUNLALNLALNLNININL AN NINLAL AL MO NININI NNV NV NI N NN NI NIND = b cd b ed e ed ed ed d b e ed ed e e b D e e D D e e e
p—— . cmsmsmsmemememems

TR TR T e A R TR TR A A L T P T L R L L L L L L L L R T R L L Ll E L L I T T T T N O T T T T T

OV IR =0V NOWNSWN =00

561 LOCAL

Sbi continue, ! Local loop fla?

56 ctx, ! Index into context arrays

564 found, ! Value found flag

565 ?et_value. ! CLISGET_VALUE in progress flag
569 ndex, ! Result parse descriptor number
56 negated, ! Explicit keyword negated flag
568 plm : REF BBLOCK, ! Address of parameter Limit

293 temp_token; ! Temporary token storage
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; Set initial state variables.

é:t,va%uo = NOT NULLPARAMETER (6);
ctx = 1,
block = .entity;
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True if CLISGET_VALUE, false if CLISPRESEN
Start with the second array eiements
Start wih primary entity block

1
1
1
1
: i
? 1 found = true; Assume the keyword/value will be found
g } negatec = false; Assume no keyword will be negated
0 1 !
1 } ; Search for each keyword in the keyword path name.
i 1 WHILE ((.keyword_List [dscSw_length] NEQ 0) ! While we have more keywords
84 1 D .found) ! and are still successful
85 1 DO BEGIN !
86 1 find_keyword_entity (.keyword_list); ! Get the keyword entity block
g; } keyword_list = .keyword_list ¥ 8; ! Point to the next keyword descriptor
89 1 !
90 1 ! If we are doing a CLISGET_VALUE, then we must concern ourseives with the old
9 1 ! context arrays. If we are using a previous context, then update the token
g } ; pointer, otherwise reset the context.
9 } IF .get_value I1f we are doing a CLISGET_VALUE

THENTIF .block NEQ .entity_context [.ctx] And if we have no valid previous context

THEN zero_context_arrays (.ctx) Then erase the old context

- - -

0

ELSE BEGIN Else try to use it
99 IF ((.keyword_type EQL qual_entity) ! 1f at /QUAL= level
00 AND,(.cti sz 1) p— .
01 THEN token = ,last_qual ! Then use the last qualifier context
8; ELSE token = .token_context [.ctx=1]; ! Else use the Last token context
IF .token LEQ 0 ! 1f defaulted Last time
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1
1
1
1
1
1
1
1
04 1
05 1 THEN default = true ! Then set default value flag
89 } ELSE negated = .token [ptr_v_negatel; ! Else conditionally set negated flag
08 1 END;
% j -
1 1 ! It we have not yet encountered a defaulted keyword, then try to find
}i } ; the specified keyword either in the context or in the command string.
14 % IF NOT .default ! 1f no keyword was defaulted yet
;2 THEN BEGIN
17 % LOCAL explicit; ! Assume some explicit value (not necessaril
}3 2 explicit = true; ! a match) is present
20 S IF .get_value AND . ! If walid context exists
21 2 (.block EQL .entity_context [.ctx]) '
i 2 THEN BEGIN ! Then use it
token = ,token _context [.ctx=1]; '
4 1 IF .token EQL 0 ! Was it defaulted?
b 1 THEN explicit = found = false; ! Yes, then say so
B |
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ctx
AND NOT (.get_value AND

IF ((.keyword_type EQL qual _entity)
OR (ictx"NED 1))  uat-entity

(.entTty_context [.ctx] NEQ 0))

THEN explicit = found =

get_explicit_value (token, 1);

temp_token = 0;
contTnue = false;

WHILE (.found)
DO BEGIN

WHILE (.continue OR (.found AND

DO BEGIN
continue = false;

(.token [ptr_b_number] NEQ .number)))

found = get,expl%cit_volue (token, 0);

IfF .found
THEN BEGIN
temp_token = ,token;
continue = true;

END
ELSE IF .temp_token NEQ 0

THEN BEGIN
token = .temp_token;
found = true;
EXITLOOP;
END;
END;
IF .found

THEN negated = .token [ptr_v_negatel
ELSE IF NOT .explicit
THEN default = true;

END;

P
3

X=11 Bliss=32 Vé.0-74 Page 52
SKSVMOMASTER . [DCL SRCSRPCLINT.B32: 1% (135
If qualifier value

or not level 1 parameter value,
Then if not using an old context

Then get the first value in the List

! Init temporary token
! Init local flag
! Get Last occurance of keyword

! Check all keywords in the value Llist

i for the one we want

If no keyword was found
Save found token

Return found token

I1f an explicit match was found

Then conditionally set negated flag

I1f no match was fourd and no values were p
Then plan to look for a default value

! If some keyword was defaulted, or no explicit value was found, then

; check to see if this keyword was defaulted.

IF .default

THEN IF NOT .block [ent_v_deftruel
THEN found = false

ELSE found

true;

|
the context arrays.

F (.get _value AND .found)
THEN BEGIN
IF NOT .default

[ I

THEN token_context [.ctx=1] = ,token

no explicit value is present

en if the keyword is not defaulted prese
en mark it not found

se mark it found

f we are doing a CLISGET_VALUE, and if we found the keyword, then update

context should be updated

keyword was explicitly found
en use that found token

' It

! Then do so
1f
Th



THEN Token_context [.ctx=1) = =1 Then mark ''default value already returned’
ELSE token_context [.ctx=1] = 0; Else mark "‘new default’'

entity_context [.ctx] = .block; Update the entity context

A
)
4
4
)
4
END
|
: Save the first possible address of a quaifier for the parameter_present and
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ELSE IF iagﬁi:g(:gn::::.tic x] EQ ]08 0 ; ;gso if Eokold csngoxt Satoute®
xt [.ctx= ! Then mark keyword ‘‘new defau
ELSE IF token context [.ctx=1] LEQ 0 ; Eise if alreZGy defaulted
i
i

; parameter_value routines.

IF NOT NULLPARAMETER (7) AND (.ctx EQL 1) AND .found AND NOT .default
THEN .qual = ,.token;

83883

NNy ~wo oo OO O o
800000880. &
VIS =00 w
A LA N U N N A AN U N N N N N N N NN N

Eﬁs = .ctx ¢+ 1; ! Increment the context level

(={=l]

WA =

NN NN

© O 0 O O OO O OO V000000000000 N NNNNNN~NN
VIS AN = OO 00 NN WSS AN = O O 00 N NV ES N = O 0 00 O N SS Lain) —
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;82 g If no value was found, then return that status now.

706 g IF NOT .found ! If the keyword was not found
707 32 THEN RETURN cli$_absent; ! Then say so

709 g% ~

;}? 2 g If we are doing a PRESENT, then return the correct found status now.

71§ 5 IF NULLPARAMETER (6) ' If doing a PRESENT

71 g THEN IF .default ! 1f value was defaulted

714 THEN RETURN cli$_defaulted ! Then say so

715 30 ELSE IF .token [Btr_v negate] ! Else if it was negated

716 30 THEN RETURN cTi$_negated ! Then so indicate

717 30 ELLSE RETURN cli$_present; ! Else say it was present

7 305 5!

;2? gog g If we are doing GET_VALUE then return the appropriate value and status.

75% 388 IF .default ! If the keyword was defaulted
72 309 THEN IF .negated ! and if a keyword was negated
724 310 THEN RETURN cli$_absent ! Then return absent

725 31 ELSE RETURN get default_value(.block,.ctx=1,.retdesc)! Else return the default value
;59 3%}; ELSE RETURN get_next_value(.token, .block, .ctx=1, .retdesc);' Else return the explicit value
728 3316 1 END;

OFFC 00000 PROCESS_KEYWORD_LIST:

s; e R2,R3,R4,RS,R6,R7.R8,R9,R10,R11 : 3101
SE 0 ¢2 0000 SUBL2 35, sP :
50 000000006 g 000 MOVL crLisL_cklnrouu. RO P 3143
08 As 40 A0 9E 8ooc MOVAB 24(n )T 8(SP) ;
B ;g A0 9E 00011 MOVAB g(n ). R8 D 3144
064 AE A 9; 8015 MOVAB  120(ROJ, 4(SP) ;3145
06 6C 91 0001A CMPB (AP), #é : 3160
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vo«-&oo 14-s.5-1934 ?g:fgzgg oxsxsvnsnAStsn:cDCL.sncinchxnt.asz;1 9 19
5 1 10 BGEQU 18 ‘ ;
57 1 o§ §8 f MOVL  #1, R7 ey :
9 1 8 2 BRB 28 .
7 04 8 418 CLRL  R7 :
18  AC DS 000 3 TSTL SL(AP) :
1 00 BNEQ $ :
06 00028 INCL  R7 :
g? 7 D2 00020 2% MCOML R7, GET_VALUE :
£ 01 00 000 MOVL  #1. CTX : 3161
59 046 AC D00 000 movL  ENFITY, BLOCK . 16§
10 A€ 01 00 80 MOvL  #1, fOU : 316
18 AE D& 8 CLRL  NEGATED P 3164
08 BC B5 0003 38: TSTW  @KEYWORD_LIST : 3169
g 12 00041 BNEQ  4$ ;
01 31 00043 BRW 32¢ :
03 10 A§ sa 0046 4$: BLBS  FOUND, 5% ;3170
0183 31 0004A BRY 378 ;
08 AC DD 0004D 5%: PUSHL  KEYWORD LIST L3172
FDC7  CF 01 rg 00050 CALLS #1, FIND_KEYWORD_ENTITY :
08 AC g; €0 00055 ADDL2 #8. KEYWORD LIST P 3173
54 E9 00059 BLBC  GET VALUE, T0$ : 3180
08 BEL6 59 D1 8oosc CMPL  BLOTK, a8(SP)CCTX] i 3181
26 13 00061 BEQL  6$ ;
50 F9 A6 9E 00063 MOVAB -7(R6), RO P 3182
50 ga C4 00067 MULL2  #4, RO ;
0C AE 0 CE 0006A MNEGL RO, 12(SP) ;
‘ 6E 08 BE46 DE oooas MOVAL @8(SP)LCTX], (SP) :
0C A€ 00 6E . 2C 888;9 MOVCS 40, (SP), #0, 12(sp), a0(sP) :
6F 6846 DE 00078 MOVAL (RB)LCTX], (SP) :
0C AE 00 6E 00 2C 0007F MOVCS  #0, (SP), #0, 12(SP), a0(SP) :
00 a; 00835 ;
27 11 00087 BRB 108 ¢ 3181
02 14 AC D1 00089 6$: CMPL  KEYWORD_TYPE, #2 : 3185
0 12 gooao BNEG 7% :
01 56 D1 0008F CMPL  CTX, M : 3186
: 07 12 00092 BNEQ 7% ;
0C AC 06 BE DO 00094 MOVL  @4(SP), TOKEN : 3187
06 11 00099 BRB 13 :
0C AC FC AB46 DO 00098 7%: MOVL  -4(RB)LCTX], TOKEN : 3188
06 14 000A1 85: BGTR 9% P 3190
10 AC 01 00 000A3 MOVL  #1, DEFAULT ;319
07 11 000A7 BRA 10§ g
18 AE 0C B8C 01 14 EF 880A9 9% : EXTZV  #20, #1, @TOKEN, NEGATED : 188
03 10 AC §9 08B0 108:  BLBC o;rAULt. 118 s,
00AA 31 000B4 BRY 238 ;
52 g1 DO 000B7 118:  MOVL  #1, EXPLICIT ; go«
14 7 E9 808A BLBC  GET VALUE, 12% ; 3206
08 BE4b 59 D1 000BD CMPL a5otx. as{spyCcTxd ;3207
oo 1 oocz BNEQ 128 ;
0C AC FC Aaag D 88c MOVL -4 (RB)LCTX], TOKEN : 3209
05 1 CA BNEG  12% : 3310
10 AS 04 000CC CLRL  FOUND I F1 %
52 D& 8ocr CLRL  EXPLICIT ;
02 14 Ag ?i 001 12%: CMPL xgvuono_rvpe. "2 P 3214
2 ooo; BEQL  13% ;
01 6 b1 0000 CMPL  CTX, M P 3215
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v04-6oo 14-so3-1934 ?gzggzig DISKSVHSHASTER:[DCL.SRCiRPCLINT.BSZ:1 % 19
02 11 0019Ff BRB 298 ;
g 04 001A 3:: CLRL  (RO) : 3275
08 ee&g go 1A3 298:  MOVL  BLOCK, ’B(SP)ECTXJ y 72
0 6; 1 001A8 308:  CMPB AP), # t 378
17 1F 001AB BLSSU  31% :
1€ AS og 1AD TSTL 8 (AP) :
12 13 0018 BEQL 1$ :
01 56 01 0018 CMPL grx. " :
0D 15 018 BNEQ 1$ :
09 18 AE E9 001B7 BLBC  FOUND, 31$ :
05 10 AC E8 001BB BLBS  DEFAULT, 318 :
1C  BC 0C AC 0O 81ar MOVL  TOKEN, SQUAL ; 532
; gs 1C4 318:  INCL gtx :
FE 1 001C6 BRW 3 : 3169
33 10 A€ 59 001C9 32$: BLBC  FOUND, 378 ; gzoz
06 ag 1 001CD CMPB  (AP), #6 i 3298
05 1F 00100 BLSSU  33% :
18 AC D5 001o§ TSTL gk(AP) :
21 12 001D BNEQ 6$ ;
08 10 AC €9 00107 33%:  BLBC  DEFAULT, 34$ t 3299
50 000000006 8F 32 83}28 =g¥L #CLIS_DEFAULTED, RO 3301
08 0C BC 1% E1 oo1e§ 34$: BBC #20, ITOKEN, 35% ;
50 000000006 8F 32 381%9 gg¥a #CLIS_NEGATED, RO : 3302
50 000000006 8F DO 001FO 358:  MOVL  WCLIS_PRESENT, RO : 3303
04 001F/ RET : 3307
1€ 10 AC E9 O01F8 368:  BLBC  DEFAULT, 393 : 3308
08 18  AE E9 001FC BLBC  NEGATED. 388 : 3309
50 000000006 8F DO 00200 37$:  MOVL  #CLIS_ABSENT, RO : 3310
04 80207 RET ;
18 AC DD ogoa 388:  PUSHL RETDESC P33
FF A6 9F 00208 PUSHAB =1(CTX) ;
59 DD 0020E PUSHL BSOC“ ;
00000000V  EF 03 fB 00519 CALLS  #3, GST_DEFAULT_VALUE :
04 0021 RET : 3312
18  AC DD 00218 398:  PUSHL RETDESC ;
FF A6 9F 0021B PUSHAB =1(CTX) ;
59 pD 0021E PUSHL  BLOCK :
0C AC DD ooggo PUSHL  TOKEN :
00000000V EF 04 FB 00223 CALLS  #4, GET_NEXT_VALUE ;
04 0022A RET P 3314

; Routine Size: 555 bytes, Routine Base: DCLSZCODE + 0928
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12-3e0-1980 99:98:38  DNRlimonatteRscheiOsntSapcLint 032: 709 (280

ROUTINE get_param_token (index, rettoken) =

<0
3
&

]
Get the next token in the command Line which is a parameter value.

Inputs:

index = Address of l?n?uord containing previous token index.
rettoken = Address of [ongword to receive token descriptor address

Outputs:

index = Address of longword containing token index of parameter.
rettoken = Address of longword containing token descriptor address.

routine value = True if parameter value found, false if eol detected.
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33 BEGIN
i; BIND
3 wrk = ctl$gl_dclprsown : REF BBLOCK;
23 LOCAL 2
g token: REF BBLOCK; ! Address of token descriptor
igz token = token_desc(..index); ! Get starting token descriptor address
334 WHILE (.token [ptr_v_typel NEQ ptr_k_endline) ! Get each token on the Line
334 DO BEGIN ! Ustil the end of the Line is reached
334 token = .token + ptr_c_length; ! Skip to the next token
gg: .index = ,.index + 1; ! Increment the token index
764 334 IF (.token [ptr_v_typel EQL ptr_k parametr) ! 1f a parameter value was found
765 335 AND (.tgkeﬁ tpgg_b_levefs Eotp1) ! and ig is at level one
766 335 THEN BEGIN ! then return success
767 335 .rettoken = ,token; ! Return token
768 35 RETURN true; ! and indicate found
769 35 END; :
770 35
mmnm 35 END;
77; 335
;;‘ égg RETURN false; ! Indicate no parameter found
775 36 END;
0000 00000 GET_PARAM_TOKEN:
.JORD Jave nothing - 3315
S0 000000006 00 DO 000% MOVL WRK, RO : 3342
51 04 C 08 85 000 MULL3 " alNDEX R1 :
0 FOAA C140 9E 0000E MOVAB =1622(R1)CRO), TOKEN :
04 60 04 1C ED 00014 18: CMPZV  #28, #4, (TOKEN), #4 ;3344
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voa-boo 14= s. 334 ?g fg §§ DISKSV n TER: (DCL sacinpcuxnr 832; 1 (23)
18 1 19 BEQL 2% :
50 0C ca 18 ADDL2 #12, TOKEN : %2?
04 BC D6 1; INCL  @INDEX :
03 60 04 1C s CMPZV  #28, W4, (TOKEN), #3 : 3349
E 8 g BNEQ 1 :
06 A0 9 CMPB 4 (TOKEN), #1 : 3350
8 1 C BNEQ 18 :
08 gs ) MOVL  TOKEN, @RETTOKEN . gss
10 MovL #1, RO . 335
04 000 RET :
50 D4 00036 2%: CLRL RO : 3358
04 00038 . RET ;3360

; Routine Size: 57 bytes, Routine Base: DCLS$ZCODE + 0BS3
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VO&-&OO 14=Sep=-1984 ?g:?g:gg DISKSVMSMASTER: [(DCL.SRCIRPCLINT.B32;1 . 21
: 1777 61 1 ROUTINE get_next_value (token, entity, ctx, retdesc) =
;1178 6g 11— i g
: 177 o 1!
3 };SQ gg } ; Get the next explicit or default value in the current value list.
: 178§ 66 1 ! Inputs:
: 178 of 4}
: 1784 68 1! token = address of the lLast token examined ;
: 1785 69 1! entity = address of the last entity descriptor block examined
: 1786 M0 1! ctx = current context level
: 1787 1 1! retdesc = address of return value descriptor
: 1788 7; 1}
: 1789 75 1 ! Outputs:
: 1790 7% 1! !
: 1791 2 1% retdesc is filled in .
: 179% 376 1! routine value is true if value is found, else false
: 179 377 1!
: 1794 378 1 !===
: 1795 379 1
: 1796 380 2 BEGIN
: 1797 381
: 1798 38; MAP
: 1799 38 token : REF BBLOCK;
; 1800 gSSL
: 1801 385 BIND ¥
: 1802 3386 entity_context = ctlS?l_cgintoun Cdcl_L_entity]l : VECTOR, ! Entity context array
: }ggz ggg; % token_context = ctl$gl_clintown Cdcl_U_tokenl : VECTOR; ! Token context array
: 1805 gsao 2 LOCAL
s 1806 390 2 found; ! value found flag
: 1807 3391 2
; 1808 339% 2 IF .token context [.ctx] EQL -1 ! Have we already exhausted these values?
3 }3?8 ggg‘ 2 THEN RETURN cli$_absent; ! Yes, then return null string
; 181 3395 g IF (.token_context [.ctx] GTR 0) ! If there is an extant value context
; 1812 3396 3 AND (.entity_context [.ctx + 1] GTR 0) ! and if we are backing up a level
: }g}z gg; % THEN token_context [.ctx] = 0; ! Then get the first value
: 1815 399 g IF .token_context [.ctx] EQL 0 ! Is there an extant value context?
; 1816 400 THEN IF (found = get_explicit_value (token, 1)) ! No, then find the first value
; 1817 36401 2 THEN token_context [.Ctx] = .token ! and save it's location as context
; 1818 360§ 2 ELSE IF .token [Btr_v negate) ! Not found, was the previous keyword negate
; 1819 3403 2 THEN RETURN"cTi$_absent ! Yes, then return absent
: 18%0 ikOk ELSE RETURN get_default_value ! No, return default value
: }g 1 3282 (.entity,.ctx,.retdesc); !
3 1a§§ 3407 token = .token_context [.ctx]); ! Set the value context
3 }g%g 283 get_specified_value (.token, .retdesc); ! Get the qualifier value
: 1826 410 IF found = get_explicit_value (token, 0) ! 1s there a next value?
: 1827 411 THEN token_context [.ctx] = .token ! Yes, then set the rnew context
: 1828 41; ELSE BEGIN ! No,
: 18%3 41 token_context [.ctx] = =1; ! Then invalidate the context
;18 414 found = true; ! But return that the current value was foun
; 1831 415 END; !
: 133; &l? : )
; 183 o zero_context_arrays (.ctx + 1); ! lero the context past this point




RPCLINT
VO‘-&OO
: 18

; 1835
: 1836

5 RETURN . found;
END;

(==
o0
[=1=]
oo
[=1=]
(==
[« V.V Jel=]
alalelele]
o<

FEFFFFFF

000900006

00000000V

00000000V

OFFC 00000 GET_NEXT_VALUE:
. WORD

SF
0
AQ
AQ
s
29
i
04 A346
0
6
6
31
01
06 AC
02
50
58
ol
14
8F
10 AC
56
08 AC
03
62
10 AC
04 AC
92
“ g
0
%
58
04 AC
6
1
1
FA A6
26
0
04 A346

OCOO0O00O0O000O0000

AN N AN N N N NN TN NN = = 3 —

O NN —=O D O~NO oS

=2 OWVWOMMNMSIMrWOOONMTDWOOOHfTO==00VOMMONWVSVNVIVIVIW=MOmMm

O =OMOMNMPYOMOOOOMOOUOOUMauOUMO MNPYU =00 =0 =0 =0000
[=le=l=lolelelelelelelelelalelelelelel=l=d"d 0744430l elolelelelelelelelele]

DN
mma~m

! Return generic status

Save R2,R3,R4,RS,R6,R7,R8,R9,R10,R11
GET EXPLICIT VALUE, R11
CTL’8L_CL§NTUUN. RO
64(RO)T R

92(R0) . R9Y

CTX, Ré

(R9SCR6], R2

(R2), #-

3s

(R2)

1$

4(R3)[R6)

1%

(R2)

(R2)

58

a1

TOKEN

'8' GET_EXPLICIT_VALUE
RO. FOUR

FOUND, 2

TOKEM. (R2)
5%

#2C 4TOKEN, 48
#CL ‘_ABSENT, RO

RETDESC
R6

ENTITY
#3, GET_DEFAULT_VALUE

(R2), TOKEN
RETDESC

TOKEN
0% P?ET_SPECIHED_VALUE

TOKEN

#2, GET EXPLICIT_VALUE
RO, FOURD

FOUND, 6%

;gxsu. (R2)

M, (R2)
#1. FOUND
-6(R6), RO
#, R

RO, R
4(R3)[R6], R10

R e T R T R R R R R E T E T T T I T T ™™ A I AT E TR TR S TE PR TR T AT A TR FEA P PR FE PR FE PR FE PR B

10°300-1380 19:98:38 DM acdumomAsteRz et DenttancLinT 032709 of)

3395
3396
3397
3399

3400

3401

3402
3404

3405



S
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; Routine Size: 185 bytes, Routine Base:

1; Sl
i L

-s'p.
- B
04 A9 E AA
i 3 g
33 00 835
04 00088

DCLSZCODE + (BBC

98¢ 12:98:38

1 BlLiss=32 V4.0-7

VMSMASTER: [DCL.SR
#0, (SP), #0, R7, (R10)

4(R9)CR6], R10
#0, (SP), #0, R7, (R10)

FOUND, RO

4 o 1
eSrpeLinT.832:12%% %)

AR TATEATE PR TR T
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SRRERERRERRES

Lele DNTe VP JV NPT DN T, BNT. JV ¥ JV Nl ]

WVIWAWIAWUIWA WAV

09 0D 00 00 00 00 Lw 0D OO

N ST TIIR

.
MR A A O N R T R R T e O R TR A TR TR PR L PR L A L A L T T PR P PR PR L PR TR AL T AL L T B IR TR TR A T TR PE PR D T P T D T T

51

VASS LIN) = O 0 00 NN S LN —

BB

BB
NOWVES NN = O V00

PN
Lo Yo To No AW LV LW LV IV [V IV [V [V IV |

=2 OOV NOWVIS NN =O

(V1,8

leseomions s g

ROUTINE get_explicit_value (token, level) =

Inputs:

Outputs:

token and level are updated
routine value = True if found, else false

D e T T

BEGIN

LOCAL
ptr : REF BBLOCK;

THEN R TURN cli$_absent;
éagel = .ptr [ptr_b_Level ‘¢ 1;

]

! 1f starting a new value Level, then set the level value

5 the previous terminator is and equal sign (KEYWORD=).
?tr = ..token: :
F .level EQL 0 !
IHEN level = .ptr [ptr_b_levell !
ELSE BEGIN s
IF .ptr [ptr_v_term] NEQ ptr, k_colon ;
|
]

]
: Got the next value in the Llist.

gglkg }.ptr Cptr_v_typel NEQ ptr_k_endline)
ptr = .ptr ¢+ ptr_c_Llength;

IF .ptr [ptr_b_Levell LSSU .level
THEN RETURN™ cli$_absent;

IF .Btr ?tr lovcl] EOL

. ( :# C t71 typel] EQL ptr_k_parametr)
v_

THEN EXITB oP;" » P’ -»

.level
OR

END;
]
‘ it end of line, then return not found.

" i BN TR ke

S e

X=11 Bliss=32 Vé.0=74 o
SKSVMSPASTER CDCL SheSRPCLINT.B32:1°9 (233

Get the next explicit value in the current value list.

token = address of address of the Last token examined
level = flag, if present, get first value at the next Llevel

and check that

Get address of Last token examined
f next value is at current level
Then get that level from the token desc

VQrify that previous token ends with a colon
Return no more values if not
Indiate that we want a more deeply nested value

While there are more tokens left to examine
Scan for the next value
Get the next token

If it is shallower than the value we want
Then return not found

If it is the level we want

Then if not mistaking a qualifier for a
?aranetor value

hen exit the loop

I1f EOL
Then return not found

1

-




o
-

2

sigigasangias o

B e e R R e s ey

D 1
16-3ep108¢ TH:A8IE8  DISKEIMSMASTER DL TSR TRpeL iz ms2: 1090 28)

~~

]
& ! 1f we've gotten this far, then uc'v’ found & value. Return fit.
4 ! Also, set the success status according to the type of terminator that
4 5 immediately preceeds “he value.
4 i .token = .ptr; ! Return pointer to token desc
i tr = .ptr - ptr,c,icnath: ! Back up one descriptor
5 F .ptr Lptr_v_term] EQL ptr_k_plus ! If previous value,
THEN RETURN ctit.concat ! then return plus or comma
ELSE IF .Btr Etr v_term] EQL ptr_k_comma ! depending on the terminator
4 THEN RETURN cLi$_comma : !
re ELSE RETURN true; ! Return no previous value
491 END;
0000 00000 GET_EXPLICIT VALUE:
WORD Save nothing : 3421
50 & BC DO 00002 MOVL @TOKEN, PTR : 3446
8 AC D5 00006 TSTL LEVEL s 3447
07 12 00009 BNEQ 1$ :
08 AC 04 ?8 ?# 881 gg;lBL g;PrR). LEVEL : 3448
03 A0 04 go ED 0012 1$: CMPZV  #0, #4, 3(PTR), #2 : 3450
8 001 BNEQ 4% :
08 AC 86 A0 9A 0001A MOVZBL &(PTR), LEVEL s 3452
8 AC D6 0001F INCL LSVEL :
60 04 1C Eg 00 ; 2s: CMPZV  #28, #4, (PTR), ¥4 : 3458
52 00 BEQL 33 H
50 C CO 00029 ADDL2 #12, PTR : 3460
06 A0 08 00 ?D 00 CMPZV  #0, #8, 4(PTR), LEVEL s 3462
10 1F 08 BLSSU 4% :
06 A0 08 00 ED 00 CMPZV  #0, #8, 4(PTR), LEVEL : 3465
E4& 12 0003C BNEQ 2$ :
01 08 A; 01 000 CMPL kEVEL' " : 3466
07 12 0004 BNEQ :
60 04 1; gg 4 CMPZV  #28, #4, (PTR), #3 : 3467
D 49 BNEQ 2$ . F
60 04 13 i 4B 38: gzggv gia. #4, (PTR), ¥4 : 3475
50 000000006 gf 8 4S: =g¥t #CLIS_ABSENT, RO : 3476
04 B 50 og A 58: MOVL  PTR, @TOKEN : 3483
0 C % SUBL2 #12, PTR : 43&
03 A0 04 sg ) gnggv zg. #4, 3(PTR), #4 : 3485
50 000000006 8F 8‘ =g¥L #CLIS_CONCAT, RO s 3487
03 A0 04 g ? 71 6%: CMPZV  #0, #4, 3(PTR), #5 :
7 BNEQ $ :
50 000000006 &F =g¥t #CLIS_COMMA, RO : 3488
50 01 DO 78: MOVL 1, RO : 3489
86 RET ' 2631

-
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; Routine Size:

esteeias el panel

4.0-74 p
O ereSRpeLINT. 832,729 (285

133 bytes, Routine Base: DCLSZCODE + 0C4S
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ROUTINE get_specified_value (token, retdesc) =

Get the value (?ossibly extending down several levels) that begins
with the specified token.

Inputs:

token = Address of the first token in the value
retdesc = Address of the descriptor to return the result in

Outputs:

retdesc is updated
routine value = always true

— i ) il e ) i il o

BN N I LI = O DB 0N W0 SO
00

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
BEGIN
MAP
retdesc : REF BBLOCK,
token : REF BBLOCK;
BIND
wrk = ctlSgl_dclprsown : REF BBLOCK;

1)
; Get all value tokens in the command that are part of this value.

;1
}
1 8
; 14
318
: 3%
213 LOCAL
1 count, ! Number of tokens in value
g 0 parens ! Parenthesis count
3 g i ptr : REF BBLOCK: i Pointer to token after the value
1 H
; g ; Initialize the local variables.
4 9 parens = 0; ! Set no parenthesis seen
S count = 1; ! Start with one token
9 ptr = .token ¢ ptr_c_Llength; ! Point to second token
50

e —

— s i i e et D el D D ) i i d D ) D D ) ) D D e D D o D el D D ) D D e el el D e D D ) ) D e D i i D D e D el D e el

00 0080900000090 0300 00000000000 000000000000 00000 00R000 000000 R R0 B0RID0B00IR0e NIRRTt eBeRIRsReSeBoRegs

51 WHILE ((.ptr EEtr,v trpe] NEQ gtr k_endline) AND ! While there are still tokens on the line
Si C.ptr [ptF_b_levell) GTR .token [ptr_b_Levell)) ! and thcz are part of the current value
S DO BEGIN ! Update the local variables
H LOCAL index;
9 !
85 ; If token is preceeded by a '‘(*', then increment the paren count.
053 4 IF CHSRCHAR (.ptr [ptr_v_offset] + wrk [wrk_g_buffer = 1) EQL %C°'(*
96? : THEN parens = .parens + 1;
& :

§§i 45 ! If token is terminated by '')''s, then decrement the paren count
964 ’ ! sppropriately.
965 4 ndex = 0;
966 48 WHILE (CHSRCHAR (.ptr [ptr_v_offset) + wrk [wrk_g_buffer)




b
P
g:
el

2

0000000900000 000000000000 P00 B0 BRI BeReReB PRGBS

D B e D o e ) =B ol D cmdh Dl =R D D e B D o D D o o

VOOVOD VO OO OOOVOD
R P LTI LT Tttt NN PRS-

1
123233:}352 09:36:38  BhScimenAtteRzcheiOshednpeL N 032: 129 (288

¢+ .ptr [ptr_b_valuel + .index) EQL XC*)")
DO index = .index ¢ 1:
parens = .parens = ,index;

]
; Update the last token pointer and the token count.

ptr = .ptr + ptr_c_length;
count = ~count ¢~ 13

]
; Strip off the terminator if appropriate and return the value that we found.

}gtdcgangdsc80 pointer] = .token [ptr_v_offset] + wrk [wrk_g_buffer];
ot
Ergg ;gég;sc CdscSw_Length] = .token [ptr_b_valuel
. etdesc Edsciv,lcng;h] = ,ptr [ptr X_offsot) = .token [ptr_v_offset];
IF .ptr [ptr_v_typel NEQ ptr_k_endline
THEN retdesc dsch_longtﬁ] = .retdesc [dsch_longth] -1
E;s?osc CdscSw_Length) = .retdesc [dscSw_Lengthl™+ .parens;

VAWM WAWAWVIWAWVIVAWIWAVAWAWIVWIRAWVIWAVIVWW
NS R R A R R S SR AR TRoLSe

RETURN true;
END;

00FC 00000 GET_SPECIFIED_VALUE:

WORD Save R2,.R3,.R4&,.RS5,.R6,R7 : 3492

56 D& 00 CLRL  PARENS : 3526

7 01 » MOVL  #1, COUNT : 3597

4 & AC 3 MOVL  TOKEN, Ré : 3528
0 C  Aé MOV 12(R4S, PTR :

$S 000000006 00 00000BGE 8F (¢ SUBLS #2926, WRK, RS : 3541

04 60 1§ f CMPIV  #28, W4, (PIR), W4 : 3533
3 BEQL S ;

06 A4 06 AD ? grggu ggvra). 4(R&) : 3534

51 01 A ¢ § 3 EXTZY #0, #12, 1(PTR), R1 : 3541
5 1 s ADDLS RS, R1, R :
8 FF A CMPB-  =1{R2). #40 :
1 BNEQ 2% 3

D INCL  PARENS P 354

3 CLRL NDEX : 354

E} g :ggzsL aptna{ R1 : 3549
9 634 3 npk ciﬁoex)ta11. " ;
g 3 EQ 4 3

g INCL ;nosx : 3550
F 8RB $ 3

¢ SUBL2 INDEX, PARENS : 3551

; ¢ ADDLZ #12, PTR ; 3
D INCL  COUNT :




N1
V04000 122300-1080 92:98:98 BNNcdImemARteR chei OshetnpcLinT.a32; 1290 (o8]

6 3 R 1 :
1 08 A 5 S; 58: goe n’roe s. R1 : 3223
52 81 AG %r ? EXT 20, 'i " 1(R4), R2 :
Ay ] CRBL i ¢ 3564
5 3 BNEQ § :
61 4 ? gggzsu .n4;. (R1) : 3565
1 A0 C EF 6% XTZv  #0, #12, 1(PTR), R .
§§ 81 Ad 5 gg eg 76 Exr #0, #12, 1(R4), asz : e
61 A 7 SUBWS R3. R2, (R1) :
04 60 4 1 f CMPZv  #28, #4, (PTR), #4 : 3568
% 8 SEd (A1) {3569
gl 26 Ag 0089 7$: ADDW2  PARENS, (R1) ;35 g
0 01 3 °3 C 88: MOVL  #1, RO : 357
& 0008F RET ;3574

; Routine Size: 144 bytes, Routine Base: DCLSZCODE + OCCA
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w

OOVW®WNO NS W =2O

b i e e e e e e i

-Sep-1984 Ax l iss=32 vV
L TR T IO R T L
$OUIINE get_default_value (entity, ctx, retdesc) =
;.-
g Get the default value associated with the specified entity.
g Inputs:
i entity = Address of an entity d’scriptor block
! ctx = Context level of } entit
; retdesc = Address of a str ng doscriptor to return the result in
g Outputs:
g retdesc is returned as described above
BEGIN
entity : REF BBLOCK,
retdesc : REF BBLOCK:;
BIND
wrk = ctlSgl dclprsovn : REF BBLOE ! Address of command work area
entity_context = ctl tl clintown Cdel_L entity] VECTOR, ! Entity context array
token_context = ctl$gl_clintown Cdcl_T_Tokenl : VECTOR ! Token context array
LOCAL
found, ! Value found flag
strin : BBLOCK [dsc$c_s gln]. ! Local descri tor for value
valuc : REF VECTOR YTE ! Address of ASCIC value

(]
; Initialize the default value buffer

ctiSgl_clintown [dcl_w_deflend = 0;

i It there is a
: returned it boforo. then return it now.

if .ontitl 5 w_defval) NEQ 0

THEN | .onfi! iontoxt C.ctx) EOL .ontitl)
sn -context [.ctx] EQL ~-1)
THEN RE!URN cl1$_absent

ELSE BEGI

retdesc [dscSw_Llength .value
rotdosc dsc$a_pointer] = value
to cnncogazxt C.ctx] = =1;

valuc = [entity + .cniity [ent w[sifval] +1;

If there is no keyword List associated with the entity.
longer have a default value.

! Clear default value buffer

default value associated with the entity, and we have not

If default value
Then, if returned before

Then return not found

Else return the value

Get address of ASCIC string
Get default value

Do not return again
Return found

Than it can no




1
RPCLINT -Sep- 126 - . .0-
V04=00 %5-2:8-}882 12:98:38 DS dUnSnASTER O "SheShpcLinT. 032; 109 (o8}
IF .ontitz‘[ont,{‘g::;;:zggl EQL 0 |

i
THEN RETURN ¢ f no keyword Llist

]
! Return no value

! 1f we have a previous keyword context, then use fit.

)
i
!
ctx = .ctx + 1;
IF (.ent t‘,contont C.ctx] GTR 0)
AND (.entity_context [.ctx + 1] EQL 0)
THEN BEG

N
ont,ty = .entity_context [.ctx]);
IF .cntit! Cent_T_next] EQL
THEN R T?RN clTS,l?son{
ELSE entity = .entity [ent_L_next]
+ .wrk Cwrk_L_tab_vec);

Increment context level

f we have a progious context
but are not backing up a Level
Then use it
Get Last keyword returned

f no more keywords
Then return no value
Else point to next

END
ELSE BEGIN !
entity = .entitylent_L_user iypol + .wrklwrk_L tab_xoc]:. Else start with first keyword
Eas!ty = .entity [ent_U_next) ¢ .wrk Cwrk_L_Tab_vecl; ! Skip List header
zero_context_arrays (.ctx + 1); i

i Find the next keyword that is present b{ default. Return it and any
! default value that may be associated with it.

R

lero the context arrays from this point

found = cli$_absent; ! Assume no value will be found

L gglkgcfi‘"tit, NEa 0) ! Loop will be exited by EXITLOOP
: b6 IF .ontitl Cent_v_deftruel ! 1f keyword is present by default
081 H6 THEN BEGIN ! Then return it
?,i 664 IF .found ! If a value was already found
DE 565 THEN RETURN cli$_comma ! Then return ‘‘another value'' status
gfs ¢ ELSE found = true; ! Else mark value found
208 H¢ value = .ontit! + .sntity (ent_w_namel; ! Get address of ASCIC string
208 b token_context [.ctx] = 0; ! Mark entity defaulted
208 -7? entity_context f.ctx) = .entity; '
$l. .

IF (.entity tont-&‘usor-typcl NEQ 0)

If keyword can have
nt_w_defvall NEQ 0)

a default value
Then process it
Get keyword name

OR (.entity
THEN BEGIN

NIy
O B~ ) = OO ¢
N~

06 87 strind [acta-sotnrer) = vetus H11:
505 57 nsert_str nf'?strsng):' e . Insert keyword into buffer
205 ';8 insert_next_Llevel (.entity); Insert its def val into buffer
20 CHSMOVE (dsﬁtc-s-b n, Get the result
DS ' "gtngl_cl ntown [dcl_w_deflen], .retdesc);
1 ELSE BEGIN Else simply return the keyword

retdesc [dscSw_lengthl = .value E?J: Get keyword name
rot?osc dsc$a_pointer) = value :

VA LN

IIIIIIIIL

R R I ra A R R T E o e e L T Ty T L T e A A T A L A L L rE  rE I I ™M .o AT
-lTalele - °° - °° -l-
NNSNNNNNYN
O 0o WVISS WM = OO
A N R N N N N N N A Ay
. - DC . WA =2 OOV 00 NO W AN = O O 00 N\ SN = OO0 V]
NS S VWAV VIV AWAIVLES £ 85 85 85 85 35 55 85 85 LIANINIRONINI A NI WA A A A A A A AANONUPONONONIND

P T R
[V L N}




RPCLINT
V04

— e i D e D D

Fan2238

K 1
bt

IF .ontitl tont_&_noxt] EaL 0
THEN RETURN . gund:
gas!ty = .entity Lent_L_next] + .wrk [wrk_L_

oo

VVES LD

RETURN true;
END;

OFFC 00000 GET_D

Fed B

~NNe

06 AC 10
064 AC 08

B4 §
52 A )} 1
g Bgag
B e
FFFFFFFF 8F S5C A94 D} 8§ B
1 1€ zr 1C §0 1$:
56 01 A24 35 03A
1 0C AC 003F
. &1 & B oo
gC A940 01 g% 04
of] § 88
0 a2 B3 o§ 28
g B8 aoss
50 [ A94; ? "gf
L4 A9i ?
1
06 AC SO D
08 Ag g
S0 000000006 af 8‘ 3s:
wu wi o«
00
i
o
CE
DE

22 h A Ny
V. F
» o

tab_vecl;

EFAU&T VALUE:

0RD

08¢ 12:8i38

AX=11 Bliss=32 V4&.0-74 P 7
lSKSVHSHASTER:tDCL.SRCERPCLINT.BSZ:1"‘(249
! If no more keywords
! Then return status

Get next keyword

S.V' =¥{R3.R4.R5.Rﬁ.ﬂ7.ﬂ8.ﬂ9.ﬂ1°.ﬂ11

SP

365 CLINTOWN, RS9
(R9Y

1TY, R2

R2)

Py T e e 12 o

R
ﬁ9)gROJ. R2
(R9)CRO], #-1

VIR Y OV N =2 Jgp = o D =2 AN O = OO NONIM =Y R
OPAMNVAS PO Z N0

PSP N~ M~

R7?
R9)CR7], RO
gg(n9)tR7]

RO, ENTITY
2}&0)

#CLIS_ABSENT, RO
WRK, R1
;24tn1), 8(RO), ENTITY

).Rgecnz). ENTITY
. 8(n1). ENTITY
'R

(R7], R10

.-.c.n.c.c.o.oi......-On.o.-t..l.o.o'o...o...oIo...o‘n.-...uto....to.o.-..ioic.o...-....

3575
§S99

616
3617

3618
3621
3622

623
624
623
632
638
639

3640
68
3644
3646
#29
3650
3652




RPCL INT 1§ Sep=1984 VAX=11 Bliss=32 Vé4.0=74 71
vo«-&oo 1 so3-135 ?2 fg 39 DISKSVMSMASTER COCL.SRCIRPCLINT.B32; 1 ® (26)
58 00 6E gg 2C e MOVCS  #0, (SP), #0, R8, (R10) ;
SA 60 A947 DE 0008 MOVA (no)turj a1o :
58 00 3 2 sc 30 MOVC 8. (SP), 40, R8, (R10) :
A 000000006 8F D B MOVL  #CLIS ABSENT, FOUND : 365
?s 82 9§ ? tczg 78: gg& %lﬂ. RS :ios
i HOHME R R £
2 000000006 &F 8§ gA =g¥L #CLIS connA. RO ¢ 3665
A 01 go DB 8$: MOVL # : goo
4 16 A s ) MOVIWL 2 ias). VALUE : 366
, 58 E ADDL2 a :
5C A947 D& 00OE CLRL  92¢ : 699
40 A947 58 go E MOVL R 64(n9>tn71 : 3670
1 Ab 3 MOVAB  1(R6) : 3676
C AC O 3 MOVL RET 5§c. R2 : o;g
10 A8 D f TSTL 16 : 3
05 1 F BNEQ G $
1C Ag g 8 TSTW 7 (R8) : 3673
f BEQL $ :
6E 3 98 100 98: MOVZIBW (VALUE $1RING : 3675
04 AE 00 001 MOVL RO, ST ni : 367
E 0D 001 PUSHL SP : 367
00000000V EF 21 £B8 001 CALLS  #1, INSERT_STRING :
8 oD 0011 PUSHL RS’ : 3678
00000000V E' 1 B 0011 CALLS #1, xussar nexr _LEVEL :
0 000000006 00 011 MOVL  CTLS 65 LIRTOWNS RO : 3680
62 0084 (€O 8 0120 MOVC3  #8, 132(RO), <né) :
7 1 81 g BRB 11§ : 67§
6 ge 98 00128 10% MOVZBW (VALUE), (R2) : 63‘
04 A g 00 00128 MOVL RO, 4(R2) : 36
08 A8 DS 0012fF 118 TSTL gtﬁ ) : 3689
ga 12 001 BNEQ 2% ;
50 A 34 } 4 gg¥L FOUND, RO : 3690
50 68 o? 138 128 MOVL ;3691
04 AC 08 A8 §1 §1 }‘ aagLs ;g4tno>. 8(R8), ENTITY S
50 1 D0 00144 138: MOVL  #1, RO ; igoa
34 147 RET : 3695

k3
(=4
o
v
3=

; Routine Size: 328 bytes, Routine Base: DCL$ZCODE
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lE-senions 9

RggIlNE insert_next_Level (entity) =
entity into the default value bu
Inputs:
entity = Address of an entity descriptor block
i Outputs:
The default value buffer is updated.

er.

- =

BEGIN

MAP
entity :

BIND
wrk = ctlSgl_dclprsown :

REF BBLOCK;

REF BBLOCK;

string : BBLOCK [dscSc s gln].
value : REF VECTOR [,BYTE];

1

;g VAX=11 Bliss=32 va4.
DISKSVMSMASTER:

Put the next level of default va}*cs associated with the specified

! Address of command work area

! First value found flag
Local descriptor for value
Address of ASCIC value

é If there is a default value associated with the entity, then return it now.

IF .cntitl Cent_w_defvall NEQ 0
THEN BEGIN
insert_char (XC'=');
value = .entit{ + .entity [ent_w defvall + 1;
string [dscSw_length) = .value [0
strin GSSSa,pointorJ = value
insert_string (string);
2570&“ true;

! If there is no keyword list associated with the entity.
! longer have a default value.

!
]
(]
]
IF .entity Cent L typel EQL 0
tﬁgn aEtuﬁa v.r%i?'- -

(]
! Get the address of the first keyword.

entity = .entity
?tity = .entity Cent”( next] + .wrk [wrk

tab_vec);
rst = true;

! Find each keyword that is present by default.

ent_L_user_typel ¢+ ,wrk {urk L_tab_vecl;

! 1f cdefault value

! Insert an equals sign

! Get address of ASCIC string
! Get default value

! Insert the default value
! Return found

Than it can no

! If no keyword list
! Return no value

Set the first value flag.

! Start with first keyword
! Skip List header

Insert it and any default

0-74 ¢
eoei PsheSrpeLInT.832: "

7
9 5§




Al

N1
12530001080 92:98:98 SN InenARteR2 bt OshednpcLinT 032,78

; value that may be associated with it,

WHILE (.entity NEQ 0)
DO 8EGIN
IF .cntitg Cent_v_deftruel
THEN BEGIN

~NO VIS
SNNNNNNN

Lo Yo SV AVAV WAV VIV
e

IS

first
THEN BEGIN

Ll VS D
SNNNNNNY

Soes

= .entit

insert_strin

IF .entit

IF NOT .first
THEN insert_char (XC*)*);

RETURN true;
END;

— D d D e wmd ol o D D D e e D D o e D o D D D P b _»

R2gg2ssEee

LA AL TR TR LR T T T L T T T L T TR LR L TR I L TR ™

! Loop will be exited by EXITLOOP

VIt ko¥uord is present by default
! Then insert it
! 1f first value

first = false; ! Clear the flag
insert_char (XC'='); I Insert an equals sign
1ascrt_char (%C*'(*); ! Insert an open parenthesis
ELSE insert_char (XC','); ! Else insert a comma
.entity [ent_w_namel; ! Get address of ASCIC string
th) = .value™[0); ! Get keyword name
$a_pointer] = value [1);
(string); ! Insert keyword into buffer
1a30rt-ncxt_ evel (.entity); ! Insert its def val into buffer
Cent_L_next] EQL 0 ! 1f no more keywords
! Then done
ity = .entity [ent_L_next] + .wrk [wrk_L_tab_vecl; ! Get next keyword

! 1f we have an open paren
! Then match it

00FC 00000 INSERT_NEXT LEVEL:
= .WORD Save g;.us.a&.ns.nb.ar

00 9E oogg MOVAB  WRK
EF 3£ MOVAB  INSERT_STRING, Ré
sr 19 MOV INSERT_CHAR, RS

8 ¢ 1 SUBL2 #8, SP
T T
8 & ks I
i i R e R
68 € g VAB 7¢nz EﬁOJ VALUE
64 MOVZBW  (VALUE) $TRIN
Ab Dg 4 gggaf g;a ., STRING*
ig r’ CALLS  #1, INSERT_STRING

F o1 BRB 78
A2 g 40 18: TSTL as(az)
& 03 6004 ROVL WAk, RO
A0 ¢ 4 ADDL3 -§&ln0). 16(R2), ENTITY




A

: Routine Size:

04 AC
2E
04 AC

182 bytes,

08

VWA WY
O AN

04

o>

06 AE

FF6A CF

08 A2

Routine Base:

o

06 AC DO ;
DE AD0 C
06 AL DY 00030 28
% 3
E
£
D& B
D DD D
1 FB -
g DD ¢
1 74
C DD 73 3%:
;B 78 4$:
16 A 8 0078
S 087F
o § Bk
SE DD 88 )
1 FB 0008C
? DD 8F
F il
08 A2 O 093 5¢:
Os, 13 0009
67 DO 00098
PE AO C1 0009
g 11 000A
E8 O00A7 6%:
8 DD O00AA
1 Fs 00AC
01 DO OOOAF 7%
04 OOBg
50 D& 000B3 8%:
04 000BS

DCLSZCODE + OEA2

§-seo-1o8s 00:26:3¢

AX=11 BL1i

s

"rm
W

R
L(R1). ENTITY

LY

—2

$— 0
N

wn

| IR ONM
—Oh e NN S
-0 20~ -t oy
—a
— e =D -

#1, INSERT_CHAR
#40

¥
#1, INSERT CHAR

2 tai». VACUE

R2, VALUE

(VALUE), STRING
1(R4), STRING+4

., INSERT_STRING

2§NSERT_NEXT_LEVEL

X~

K. RO
4(RO), B(R2), ENTITY
RST, 78

#1, INSERT_CHAR
#1, RO

RO

BTV I ORIV »
&5 AN W~ =\ ) =2 TV A POND :“

s

X ss=32 V&
ISKSVMSMASTER:[DCL

0-74 P
O e SrpeLInT 83219
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74
(25)
3748

749
755




<
23
5% gz

LI AT A TR TR T R R A L T R T AL E T A R R T R A R TR R TR TR s o' I TR LA T A LN TR LA DN TN T

Wmmmm-aaa-a-na-o-o-a
WINY = 0@*‘0““\“-‘0“%\”5\”-’08328

A
wh

AINININININI NN NI AN NI NINIRI RO N
BEIS

P X ot

WIN=O

50

NNNNNN NN

N = OOV NO NI NN = OO0

PONIN) = d d b d e d b

=2PAININAL N AN NN AN NI NININI A A NININININININD =2 cd b b ocd b D d e d e D b d D

M 1 >aynae

2
13iiots 90:70cl DISKSVMSAASTER: LOCL. SRCIRPCLINT.B32:1 0% (263

ROUTINE insert_string (string) =

é Insert the specified string into the defalut value buffer.
! Inputs:

string = Address of the string descriptor of the value to insert
Outputs:

the default value buffer is modified as described above

BEGIN

string : REF BBLOCK;

BIND
retdesc = ctiSgl_clintown [dcl _w_deflen] : BBLOCK,

! Default value string descriptor
size = ctiSgl_clintown [dcl_w_buflen] : WORD; . -

! Default value buffer size

]
; If default buffer cannot fit string, then increase its size.

IF (.size - .retdescldscSw_Lengthl) LSSU .string [dscSw_Llength) ! If not enough space in the buffer
THEN allocate_default_buffer (.string fdsc!u,length]T: ! Then increase its size

1
; Insert the string.

CHSMOVE (.strin CdscSw_lengthl], .sgring [dscSa_Eointerl. ! Insert the string
]

.retdesc [dsc$a_pointer .retdesc_LdscSw_Lengthl);
retdesc [dscSw_length] = .retdesc [gsctu_longth ! Update the length
+ .string [dscSw_Llengthl;

RETURN true;

END;

00FC 00000 INSERT_STRING:

.MORD  Save R2,R3,R4.RS,.R6,R7 ;

9 000000006 00 DO os MOVL sr $GL CLINTOWN, ‘RO ;

ga 0 9€ MOVAB  132(R0OY, R7 ;

0 D CO0 3¢C MOVZWL 141(RO). RO ;

1 g MOVZWL (R7), R :

0 I 1 SUBL2 R1, RO ;

3 04 As ) 1 MOVL srﬁlng R6 ;

56 i D 0001 CMPZV 02. #14. (R6), RO :

A 1B BLEQU 1 3

7€ ? C MOVZWL (R6), =(SP) ;

00000000V  EF 1] 7 CALLS  #1, ALLOCATE_DEFAULT_BUFFER :

386
3810

3811

|

<2

8000000000000 0000000000000 0000000000000 00NN RERNENE NI VIV VEVE NI NIV VNI VNI NI NI VINEVEEVr VIR DIV RNE B




V04=000 'é::IIZS‘ 10:98:38  BINkdUnenASTER2ch e OsmednpeL nT . 032: 1% (2F8

MOVZWL (R7), RO ; 3817
38 " 04 i ADDL ‘(n%i. RO : ’
60 04 99 novc (R6), 94 (R6), (RO)
g A ADDW2  (R6). (R7) 3819
0 1 o o D MOVL  #1, RO gago
oo RET 822

; Routine Size: 65 bytes, Routine Base: DCLSZCODE + OFS8
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ROUTINE insert_char (char) =

]

; Insert the specified character into the defalut value buffer.
i Inputs:

i char = The value of the character to insert

1
]
'
; Outputs:
i
i

WES IR =2 OV ~NO NS W

the default value buffer is modified as described above

char : BYTE;

BIND
retdesc = ct{tgt intown [dcl _w_deflen] : BBLOCK, ! Default value string descriptor

cl
size = ctiSgl_clintown tdcl_u_ﬁu?lon% : WORD; ! Default value buffer size

]
; It default buffer cannot fit string, ther increase its size.

O WVWNO VS I = OO0

= AIAININININININIAININININININININININININIAIND = b b b b b b b b e b b b b b

oo NN N~ N~ OO~ O ¥ Y
R B S BN I S D A A R i 2 S SR AR w

000 000000000000 00000 N0 NIRRTV RIRIVENEVERIBIENEBeReBeBeBeRe o

85 IF (.size = .retdescldscSw_Length)) LSSU 1 ! 1f not enough space in the buffer
gi THEN allocate_default_buffer (1); ! Then increase its size
S !
gg ; Insert the character.
59 CHSWCHAR (.char, .retdesc [dsc$Sa_pointer) ¢ ! Insert the character
S .retdesc gsctu_length]):
Sg retdesc [dscSw_Llength) = .retdesc [dsc$w_lengthl + 1; ! Update the length
So RETURN true;
2 861 END;
0004 00000 INSERT_CMAR:
.WORD Sav; R2 3 ;823
000000006 0 gT GL_CLINTOWN, RO : 3844
& E MOVAB zmr.a :
D C MOVZWL 141(RO), R : 3850
movZuL (R2), Rf :
0 ¢ SUBL2 R1, RO :
9 BNEQ 13 :
1 0D PUSH n : 3851
00000000V EF ;l CAL L3 ALL8CATE_DEFAUL!_GUFFER :
MOVZWL (R3), R : 3857
6 A ookz 4(R2S, RO :
6 & AC Vv CHAR, (RO) :

|

<2
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; Routine Size: S3 bytes,

1§I§§32133’£ P88 DSAUnMARTER cBE 25ACSnpeL i 032,779 208

n RRIR

Routine Base: DCLSZCODE + 0F99

INCW
MOVL
RET

(R2)
#, RO

: 385
; et

-



sszl N
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VIS W = OV NO WS WIN=O

NONNNON

=2 AIAININIAI AN A £~ PN PRI NIAINIAININIAINININININD = b cd b b e b e b e D b b b D

5223321382 19:48:38  MNdmenadteRccoeisnetnpeLInT.032: 029 (2B}
ROUTINE allocate_default_buffer (length) =

]
Expand the default value buffer by at least the specified string Length.

Inputs:

length = the size of the most recent string being inserted
Outputs:

the default value buffer is modified as described above

BEGIN

BIND
retdesc = ;tltgl clintoEn [(del w dofion] BOLOCK. ! Default value string descriptor
size = ctiSgl_clTntown [dcl_w_Buflen Default value buffer size

tltERAL
slot = 128; ! Ircrements to increase the buffer size by

LOCAL
address,
old_size,
status;

old_size = .size; ! Get old size
sizé = ((.retdesc [dscSw len?thl + .length / slgt) + 1) »~ slot; ! Calculate size of new buffer
IF NOT (status = (. ctngg z.ntgga Ed:l, _getvml) i Get new buffer

Size, res

THEN SIGNAL (.sEatu; ! Signal any error
CHSMOVE (.retdesc (dsc u longth] .retdesc [dscSa_pointer], ! Copy old value
(.ctiSgl_ clintown fdcl L ?rocvu]) (old sizo. ! Free old buffer
retd oss Td scta _pointer]);
retdesc [dscSa_pointer .address; ! Save new buffer
RETY UR true;
END;
O0OFC 00000 ALLOCATE DESAULT BUFFER:
Save R2,R3,.R4,.RS,.R6,.R7 : 3862
r 000000006 9 "0"3 CTLSGL_CLINTOWN, ‘R ;
C SUBL 3
C MOvL i ($6 CL!N!OUN. RO : 3880
8836 C 3 F MUY AR (R :
C E 4 MOVAB 1 (l 3 301
86 s 19 MOVZWL (R ‘. OLD SIZE : 3891
S1 4 00000080 F § 10 DIV 9128, s NGTH, R1 : 3892
g 8 38 Moy gL ( ® 3
3 ADDL2 RS, i ;

——— r—

-

2209000 0200000000000 0000000000000 RN 000 RN BN VIRV VIRV VI VRV VeV R0 Ve Ve VB
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; Routine Size:

00 BE

102 bytes,

000000826 00

1
1

4 88
8§
o I

5

Routine Base:

NO=OONTMTMY

g

DCLSZCODE + OFCE

OMOOVONTMNOMND P~

OO " MO0 © oD M — 00

L

AR AR
VINIM O ONMAO > =M > -

&

-gep-198¢ 09:76:38

ADDW3 0120
PUSHR  #*M ;
CALLS o; ?
LBS  STATUS
PUSHL  STATU
CALLS M1, LI
MOVCS  (Ré)

VAX=11 Bliss=32 V4.0=74

0
DlSK’VHSﬂASTER COCL.SRCIRPCLINT.B32; 1 (28)

3894

3895

- Y
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WIS AN = O O ~NO NS N = O

VSN N

Lol ol elelrelVelVellellelVelVolVollollel
b e e e o e e e D

VSN N = O O 00 N 1 85N =2 O O 00 NN S AN = O O 00

BNV —2O 0

W0 NS N =2 O OB~ W

VWO OOV VOO0

ViAW

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
MAP
1
IF
&4
4
g
4
g
&

f-seoione 09:2e:3s

ROUTINE local_qualifier (entity, number) =

ne and return the token descriptor.

! entity = Address of entity descriptor block

number = Qualifier number to search for

i
i
!
; Inputs:
i
i
; Outputs:
i
i

entity: REF BB.OCK;

BIND

wrk = ctlSgl _dclprsown : REF BBLOCK

tralin = ctiSgl glintoun Cdcl l_frnlia] :_VECTOR
ast_param = ctUSgl_clintown CdCl_b_param) : BYTE;

LOCAL

token:
index,
match;

REF BBLOCK,

next parameter value.

match = false;

t{ ent_v_parm)
.Last_param NEQ 0
BEGIN

LOCAL plm: REF BBLOCK:;
gln = pralim E.last_paraa-1 :
ndex = .plm [plm_b_quadesc);

WHILE .index NEQ 0
AND .index LEQU .plm [plm_b_Lstdesc]
00 BEGIN
token = token_desc(.index);

.enti
AND
THEN

IF (.token [ptr_v_type) EQL ptr_k_parametr)
AND (.tgkon [p!g_b_ eve 5 Ent’?)
THEN EXITLOOP;

IF (.token [ptr_v_type) EQL ptr_k_parmqual)
AND (.tgkon tblg_b_NUIbgr Eﬂt .nalbor)
THEN match = .token;

VAX=11 -
DISKSVMSMASTE

Bliss=32 v4.0-74 P 1
R: 1.0'(23)

CDCL.SRCIRPCLINT.B32;

t?cato the last local occurronc’pof a8 qualifier on the command

routine value = Address of token descriptor if found, else 0

! Address of current token
! Index of current token
! Address of Last matching token

If the qualifier has local or positional placement, then search for
a parmqual starting at the last parameter value returned until the

! 1f no match is found, then return false

! 1f Llocal or position placement,

! and we have recently requested a parm

! Agdross of paramc.er Limit descriptor
Limits of Last parameter requested

! Start following lLast value returned

While range not yet exhausted,

Get token descriptor

1t a parameter value,

! then stop the parameter search
: It parameter qualifier,

! and its ours,
! Return descriptor of parmqual

[ VA DA DA DR DR DN N NS G S S



e
V04000 1522:821882 09:48:38 PASKlInenAEteRzh e oo netapeL Nt 032; 290 (8

; 4
: 5 Eag?x = ,index ¢ 1; ; Skip to next descriptor
' 9 END;
% 4! 3 RETURN .match; ! Return token address or false
; 2392 968 1 END;
003C 00000 LOCAL_OUAb&;gER:s.v g e
51 000000006 gg 02 MOVL ctLicL-thﬁtoau. R1 : 9%?
D CLRL  MATCH : 3940
50 06 AC 0O MOVL  ENTITY, RO : 3941
53 05 A0 01 51 30 F BBC #1, S(RO), 4$ ;
008F (1 g 014 1ST8  143(R1) : 3942
& 1 18 BEQL  4$ :
0 008F C1 9A 0001A MOVZBL 143(R1), RO : 3945
4 FC A140 gs 1f MOVAL =4 (R1)CROJ, PLM :
0 A; 15 g & gggEsL 2£PLH). INDEX : sgz
50 02 A4 08 gg 5? A gfgga zg. #8, 2(PLM), INDEX g 949
1 000000006 00 O g VL WRK, R1 : 3951
R BREE o Ml e
03 63 04 1C ; 0845 CMPZV og , #, (TOKEN), #3 ;3953
0 4 BNEQ 2 3
01 04 ? ? §2A EQEE 2(10«5~). " : 3954
01 63 04 1C gg g 2 gnzgv 030. #4, C(TOKEN), M1 § 3957
08 AC 05 A3 08 gg g§ gz;sv gg. #8, S(TOKEN), NUMBER § 3958
55 00 000 MOVL  TOKEN, MATCH : 3959
S e 3
50 5 00 g 48: MOVL  MATCH, RO : 3966
34 006A RET : 3968

; Routine Size: 107 bytes, Routine Base: DCLSZCODE + 1034
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K 2
RPCLINT 16=Sep=1984 00:26: VAX=11 Bliss=32 v4.0=74 Pa 3
V04=000 122300-1080 92:48:98 BNdInehASsER2 che i OshetnpcLinT 032: 1290 58
99 ROUTINE global_qualifier (entity, number) =
’ o 1)
‘ B
38 97 i t?coto the last global occurrence of a qualifier on the command
e 3;5 ne and return the token descriptor.
2§§ 8; i Inputs:
40 97 entit Address of entity descriptor block
202 378 nunbog : Qualifier naghoryto s::rghofor .
2§? g ? Outputs:
283 3 i g routine value = Address of token descriptor if found, else 0
410 985 1 °
3 BEGIN
9§8 BIND
989 entity_context = ctl$

L_clintown [dcl_L_entity] : VECTOR, ! Entity context arra
last_qual = ctngl_cl?nfoun E a . A n

b el B D o D il D

(]
; Search for the last occurrence as a command qualifier.

g

i
I's
S 990 del L _quall, ! Last qualifier token
9 331 wrk = ctiSgl_dclprSown : REF BBLOCK;
8 99§ LOCAL
9 994 last: REF BBLOCK, ! Address of token for lLast occurrence
0 995 token: REF BBLOCK, ! Address of current token
1 999 index; ! Index of current token
g 99
99 !
4 993 ! If in midst of CLISNEXT_QUAL call, then return the already found global
S 200? ; qualifier token.
? 488; IF .ctlsgl _clintown Cdcl v_nextquall AND (.entity_context [0] EQL .entity)
8 ‘884 THEN RETURN .last_qual;
g
%

last = 0; ! Indicate no occurrences found
index = 1:

3BE

Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y ¥

Saaaniig

Sass
FRERE

A I A T T A A R TR R TR LR TR LR TR LA L T TR L A L T L A e T T A L R T R A L e T T e T A A L L L I ™

BB
o ~NOoW

Y N Y Y Yy

WIS WIN = OV NO VIS LWIN = O

CO00000000000000
FOTUNORONOR) — — —b —b — =5 —» —0 —» —

token = token_desc(1);

WHILE (.token [ptr_v_typel NEQ ptr_k_endline)
DO BEGIN

IF .token [ptr_v_type) EQL ptr_k _comdqual
AND .tgkoﬁ tpgg_b,nunbng'ElL .nalbor
THEN Last = .token;
oken = ,token ¢ qtr_c,lcngth;
ndex = .index ¢ 1;
END;
RETURN . last;

! Start at first token descriptor

! Until end of command line

! 1f token is a qualifier

! and its our qualifier

! Save last occurrence of qualifier
! Skip to next token

! and increment token index

! Return address of token descriptor




-1984 AX=11 BLiss=32 V4.0=74 P 4
b 1§ o198 12:48:38  BNNRdlndnAeteRd bt Os ke 8pcL int 032; 129 (3B}
0004 00000 GLOBAL OUAbgglER° -
50 000000006 00 00 ROVL cta! LoCLINTOMN. RO : 3989
- 0032 ’ 40 Aé § F EESL ?£tn )u eutlrv §
0 4 BNEQ s ;
50 78 AD si 16 MOVL  120(RO), RO : 4003
1A RET ;
B e En : 08
50 000000006 §5 0000064A gr cg 3 SUBL3 01315 unx TOKEN : 4010
04 60 4 1& ig 28: gngv b, (fox£n> m ;4012
00 60 04 15 75 § E:ESV cga. #4, (TOKEN), #0 ;4015
08 AC 05 A0 08 %g ;3 ‘i gnggv go #8, SCTOKEN), NUMBER 4016
51 ) MOVL toxeu LAST : 4017
50 25 C 43 3s ADDL2 foken : 4019
o? 4 INCL 5N Ex ¢ 4020
gr 11 00048 BRB $ : 401
50 1 D0 0004D 4$ MOVL  LAST, RO 402
04 00050 RET : 4025

: Routine Size: 81 bytes, Routine Base: DCLSZCODE + 109F
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RPCLINY -Sep=1984 00:26: VAX=11 Bliss=32 Vv4.0-74 P 5
vof-&oo }2-303-1854 ?g:fg=gg DISKSVHSHASTER:tDCL.SRCiRPcLlNT.BBZ:1"‘(3?)
; 2 5 2 } ROUTINE token_string (token, retdesc): NOVALUE =
: ge2e 058 1
§ 2 9 2 } g Create a string descriptor of a token string
B ke
: 2460 [ 1! token = Address of token descriptor
; 221 2 S } ; retdesc = Address of quadword to receive string descriptor
: 22‘ 2 9 } | Outputs:
E 265 2 3 } g retdesc = Descriptor of token string
i 5063 a1 1°
: :28 2 4; BEGIN
: 2470 206k $ BIND
: 2;1 282; wrk = ctlSgl_dclprsown : REF BBLOCK;
: 247 4047 2 MAP
: 2474 6043 token: REF BBLOCK,
: 2;2 2820 retdesc: REF VECTOR C2);
; o6r7 4051 retdesc [0] = .token [ptr_b_valuel; ! Ret the token lLength
; 2;3 282; retdesc E!g = wrk furkfg_iu?gorg + .token [ptr_v_offset]); : R:ta:g th: :3u32 .33?.ss
: 2480 4054 1 END;
0000 00000 TOKEN_STRING:
.WORD Save nothing : 4026
58 80 AC 80 88 MOVL RETDESC, Rg : 4051
6 4 C 9A MOVZBL QTOKEN, (RO) :
51 06 BC gc 8 EF 0000A EXTZ #8, #12, STOKEN, R1 : 4052
1 ooooooggc 0 019 ADDL WRK, R -
04 A0 F4 c1 9¢ 5O MOVAB  -2926(R1), 4(RO) :
04 00010 RET s 4054

; Routine Size: 30 bytes, Routine Base: DCLSZCODE + 10F0
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ROUTINE convert_keyword_List (desc, array) =

H
: Take the user's string apart and fill in the keyword array.

Inputs:

desc = Address of descriptor of user's input strin’
array = Address of the array of descriptors to be filled in

Outputs:
The array is set up.

An error code is returned if there is a syntax error in the input string.
The error is signalled here.

- S WS A s oo - - - -

ptr,

0

status;
index =
status = false;

WHILE ((Antr LSSU .desc [dsc$a_pointer] + .desc [dscSw_Lengthl)
e s e 2+(dcT_c_context+1)))

]

ptr = CHSFIND_CH (.dcscttdsgta-e?intor] + .desc [dscSw_length] - .ptr,
.ptr, et ©

IF .ptr

EQL 0
THEN EXITL P status = true;
array [.index] = .ptr - .old_ptr;
array [.index ¢ 15 =,
ptr = .ptr + 1;

ld_ptr = .ptr;

ndéx = ,index ¢+ 2;

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
‘ 4 - s am
§
BEGIN
MAP
desc : REF BBLOCK
array : REF VECTOﬁ:
LOCAL
ld_ptr,
index,
CHSFILL (0, k'(Z'(dcl_E context+1)+1), -.array);
ptr = olg,ptr = .desc [dsc$a_pointer);

old_ptr;

IF NOT .status
THEN BEGIN
éGNAL (usgt noentity, 1, .desc, cli$_entnf);

TURN msg$_noentit
ND; | Yy

AN =2 © O 00 N VS N =2 O 0 00 N O VNV 8 N =2 O 0 00 N OM W 8 N =2 © 0 00 N0 W 8N ) = SO 00 O N 8N N = OO 00

array [.index] = .desc [dsc$a_pointer] ¢ .desc [dscS$w_Length) - .old_ptr;
array L.index ¢+ 1] = ,old_ptr;

N N N N N N N N N N NN N NN NN
— il ) il il D il D il il i wl i ) ) D D il D D i D Al D D D D D D il D D ) D D D i D D e D ) D D i D el D D D D ) D D D il
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X=11 BLiss=32 vé4.0=74 Page 89
SKSVMSMASTER: [DCL. sacgﬂPCLlNT .832; 1.0'(32)

oL heseomions gz

; 3293 4165 ; RETURN true;
;2594 4166 1 END;
007C 00000 CONVERT_KEYWORD_LIST:
.WORD ~Save R2,R3,R4,RS5,R6 ; 41gg
56 08 AS go 82 MOVL  ARRAY, Ré P41
F MOV 80, , MO, #68, (R H
0044 8 00 6E 26 C : €5 #0, (SP), #0, #68, (R6)
3 84 AC D 8 MOVL oesg R3 P 4139
4 & A3 D 1 MOVL  4(R3J, OLD PTR .
1 & D 1 MmovL  oLp_Pfr, PTR :
04 0001 CLRL  INDEX P 4140
g« 18 CLRL  STATUS ;4141
50 . 8 18 18 MOVIWL (R3), RO : 4143
gg 06 A3 ¢ ADDL2  &4(R3S, RO .
1 01 °8 4 CMPL  PTR, RO :
D 1; 0027 BGEQU 48 :
10 i 01 00029 CMPL  INDEX, #16 P 4144
g 15 C BGEGU 4% :
50 1 S E SUBL PTR, RO : 4146
61 50 S A 00031 LOCC  #46. RO, (PTR) :
¢ 0% 00037 o o i :
1 DS 00039 2% TISTL  PIR P 4148
05 1 08 B BNEG 38 :
55 ?z ? 8040 gggL z;. STATUS b 4149
6642 51 4 ca oag 38: SUBL3  OLD_PTR, PTR, (R6)CINDEX] 4150
04 A6&L2 & D0 0004 MOVL  OLD”PTR. &(Ré)CINDEX] ;4151
1 06 0004C INC(L  PTR : 41s§
54 10 34; MOVL  PTR, OLD PTR ;418
52 o; C S ADDL2  #2,  INDER P 4154
11 00054 RB 1$ P 4143
F 5 E8 sg 4s: BLBS  STATUS, 5% : 4157
000000006 ; gg 2, ;3§at :SLIS_GNTNF : 4159
1 0D 00041 PUSHL :
000000006 00 o> '¢ 8% Pp 00063 EALLS 1. LIBSSIGNAL :
28 000310FC  8F §§ ?2 =g¥L czboSic. RO : 4160
6§ 78 5%: MOVZWL (R3) P 4163
53 06 A3 C ADDLS  4(R3J, RO, R3 ;
6642 & ¢ suBLS oLD_PfR, R3 (ne)txugexl ;
04 A4 4 D MOVL™  OLD-PTR. 4(R6)LINDEX ;4164
5 1 A MOVL  #1,°RO ;4165
4 RET ;4166

; Routine Size: 142 bytes, Routine Base: DCLSZCODE + 1225
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V04-000 15333331332 09:88:98 D NdInemAteRccoei P meSrpeL It 032: 729 (329

: E? :} 7 } ROUTINE batch_job =
1 .
: 26 M7 1 This routine returns a boolean value indicating whether
; e i 2};; } : the current process is a batch job or not.
: 58 178 ] i Ineuts
: 2605 k17$ 1! None
H 77 1!
: 2};3 } ; Outputs:
E 210 2} : } : Routine value is true if a batch job, else false
B e
; e1§ 4184
: g}g 2} : oy - b_st BBLOCK [4) ! PCB fl
3 cb_sts: ! tat
: 2816 a Qe List: BBLOCK E165. | GETJPI item List
: 261 4188 fosb: BBLOCK (8], ! 10S8
: g}g 2}33 status; ! Status
: 2620 4191 2!
: 2 % 2}35 ; Get job status flags to determine type of job
: 26 4194 2 item_List [0,0,16,0) = &; ! Buff h
: 2624 6195 item_Llist g.§.1 0] = jpiS_sts; ! Bgl :3«5'“"
: 2625 419? item_List (&, .g 0] = Bcb_sts: ! Buffer address
: 26 ? 419 item_List (8,0 = 0; ! Address to return item length
: 26 ; 4198 ¢ item”list [12,0,32,00 ='0; | End of item List
: 26 4 iosb [0,0,32,0] = 0; ! Init th S
: 2 ’ : 1 iosb [4.3.35.83 = 0; ! - . S
: 26 g P& Oi return_if_error (SGETJPIW (ITMLST = item_List, ! Obtain PCB flags
: 26 P 4204 EFN = exe$c_sysefn, !
; g g : 8; 10SB = iosbY); !
; 26 4 IF NOT (status = .iosb [0,0,16.0)) 'R
: gis : §8 AR R ] ! eturn errant 0SB status codes
: 639 4210 ¢ RETURN .pcb_sts <$BITPOSITION(pcbSv_batch),1>; ! True if batch job
;2641 4212 1 END;
EXTRN SYSSGETJPIW
0000 00000 BATCH_JOB:
s 0 ¢ §38t gzgi nothing : 4167
?8 AE 03050004 3' 3 § movlL # 653532 ITEM_LIST s
BE 3 % MOVAB P(B_STS lgen_Lrsto4 ;4
14 AE CLRG  ITEA_LIST+ ;4

P S N —
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; Routine Size: 63 bytes,

Routine Base:

?8

NOO~N~N

YN

» NOO~IP > 4>

:
s

000000006 DD
.kl
8

DCLSZCODE + 1283

13

1
1
1
1

N NOVO~NS

E 18:

o138 09:78:38

VAX=11 Blis -32 91

oxsxsvng [DCL sncinPCLqu B32; 1 ® (34
1038 : 4509
}osa :
Ien LIST :
' xssc zvsern ;

vs f;tJPlH :
xoss. §tArus ;4207

06 li PCB STS+1, RO

: 4219
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R:

( L SlCilPCLlNT.lBZ 1

e —

"9 38§

GLOBAL ROUTINE dclSdispatch (rqdesc, rqwork, rqbits) =

S23333333

”OMOO‘”?

2t Ittt IR Pe BRI BB LRI I I I B LI At A At It It At At ittt at ad T

OOOWWWWM\”‘“"&&&J‘Dbb’wwwgddddaa
N = OOV NO WS N = OO NO VIS WM = OO0 VIS WIN =2 OO0~V

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
!

Inputs:

rqdesc = Address
rqword, rqbits =

Outputs:

l
i
.
'
l
l
l
l
l
l
i
.
|
i
.
!
l
l

IF .wrk turk v_userrtn] AND (

THEN 8
- Mrk Cwrk L 1

f PlgBER(! EF(pstS

desc

This routine can be called to dis
routines if the command has the ROUTINE attr

atch t

o on;bvorb processing

ute.

f request descriptor data structure
gnored

ek turk L_image] NEQ 0)

uscr) IREF(ptr §
ontad r
t.ptr)( rqdosc C

dr3 NE

ength), .ptr)

; The verb routine is called (if any).
The status passed back from the routine is returned in RO.
,gg? 1t no routigo is specified, success is returned.
gg; BEGIN
664
o o d REF BBLOCK
229 rqdesc : :
668 BUILTIN
9 PROBER; ! True if location can be read
BIND
wrk = ctlSgl_dclprsown : REF BBLOCK; ! Address of command work area
LOCAL
ptr; ! Pointer to offset to user routine
IF .ctlSgl_clintown EQL 0 ! 1f not yet initialized,
THEN‘?n7tial ze (. rqdosc Cint_L_getvm], ! then in‘tsalizc parsing
.rqdesc tin L_freevm)); |

1f addr of user routine
Then call it
Get pointer to offset Longword
If Location can be read,
f user-supplied ar ument

THEN RETURN nt_L_entaddr])) then call user routine with argument
— ELSE RETURN (. ptr)() else call user routine without argument
SIGNAL (cli$ _invrout): ! Signal error
gs URN ¢ cli$_Tnvrout; ! Return error

52 000000006 ar°°33 88889

LENTRY DCLS
MOVL #CLI

ATCH Saxo R?

2'?5v ouf,

: 6213
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000000006 80

F
8 000000006

000000006 gg

; Routine Size: 90 bytes, Routine Base:

OP P =20 = OOCO> >

NOOSHLNOMO—-=0ONNOMO

A
0

00

§2
1
Z

DCLSZCODE +

8t 19:78:3

aooesc. RO
s(n -(SP)
1n§rxAszs

R
o:.&»

RO), PTR
#12, (PTR)

8?. RO

A

-SN-DNAR I WIRE S
om

=N NOD PN AP N —

.l\ ~SO s O

RO)
(PTR)
#0, (PTR)

R
l¥. LIBSSIGNAL
R2., RO

L

VAX=11 BLiss=32 V4.0-74
DISKSVMSMASTER: [DCL . SRCIRPCL INT.B32; 1

iTLSGL CLINTOWN

(RO), 38

%38
4247

4249
4248
4251

i1

: 4255
i 4256
: 4257

; 4260

4261
4262
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secL it Lttt R T AN CT P KT MO
GLOBAL ROUTINE dclSnextqual (rqdesc, rqwork, rgqbits) =

N 84

~O~

Point to the next instance of the specified qualifier
in the command Lline.

Inputs:

rqdesc = Address of request descriptor data structure
rqword, rqbits = ignored

Outputs:
Routine value:

VIS WY
SNNNNNNNNNOOO
VAN WM =2 OO NNV SN = OO 00

~

success = resent
ocpres

defaulted

absent
negated
$_Llocneg

S.
$

$
3
3

L
L
L
L
L
L

cli
cli
cli
failure = cli
cli
cli

B B B BB b D D

ALL errors are signalled.

BEGIN

rqdesc : REF BBLOCK;

BIND
entity_context = ctlSgl_clintown [dcl_L_entity) : VECTOR,
token_context = ctl$ _clintsun Cdel_T Sokon] : VECTOR,
last_qual = ctiSgl_clintown [dcl_L_quall,
wrk = ctlSgl_dclprsown : REF BBLOCK;

GLOBAL REGISTER

Entity context array

Token context array

Last qualifier token

Address of command work area

00 NOM WSS AN = OO 00 ~NO NS N

NN

WSS N —

SRGRISSBIZRREN2S

AIRIRIRIAIAINIAINININIAININIAININININININININININIAININININD b b b b b b e e e e i i b b o e o e e e e b e

SN NNNNNNNNNNNNNNNNNNNNNSNSNSNSNSNI SN SN SN SN N SN SNSN NN
T T T ¥ ¥ O ¥ T T T R T S ot ol oF ol ol ol o ol ol P o ¥ ¥ W O W O W W W O W O O

block=9: REF BBLOCK, ! Address of ontit¥ descriptor block
number=10, ! Parameter/qualifier number
type=11; ! Entity type
LOCAL
token : REF BBLOCK ! Ptr to token descriptor
44 keyword_array : VECTOR [2+(dcl_c_context+1)+1]; ! Keyword array
761 1 '
;2 }g ; Initialize CLINT if necessary.
744 1 iF .ctlSgl _clintown EQL 0 ' 1f not yet initialized,
745 14 THEN ?n?t%alzzt (.rqdesc [int_L_getvm], ! then %n‘t’nlizo parsing
74 15 .rqdesc CiAt_L_freevm));
74 1?
;2 } % Verify that valid entiti ified
! Ver at va en es were specified.
750 IR y . ’

IR T P A T PR TR T PR T TR L P T R LA L TR TR TR TR AL A LA L AT A T L T T T T T P T P T TR T T T T T L T T T TR TR T LI




IR TR LA LR TR LA TR TR PR L L T T PR L T TR T TR TR TR T TN TR TR TR PN T T ey e e T T T L LI

Y Y Y T N N T N N N N N N Y VYN N NN NN

VIVIVIWVIWVAIWVAVIVAIWVAAA
N = OOV NO VIS W= OO NO VS WIN=O

o~

»

4 S S b A A
=SRINININI NN S 55 55 85 B B 5~ IR NN AR NINININININININIRI A RNINININONRIN)
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tsescions 9088
return_if_error (verify_entities (rqdosc Cint_w_entlen],
“keyword_array));

|
' If the entity is not a qualifier then return an error.

lf (.t NEQ qual_entity) OR
,p?. o‘ugg _array EZJ NEQ 0)
THEN B

SIGNAL (nsgs noentity,1,keyword_array [0],cli$S_entnf);
2SDURN msg$_noentity;

]
' Do we have a previous context? If so, start search there.

lf .entity_context [0] EQL .block

THEN token = ,last_qual ¢ gtr -C_length
ELSE token = toktn desc(1

zero_ contoxt arrays

last_qual = 0;

1
% Search for the next occurrence as a command qualifier.

WHILE (.token [ptr_v_typel NEQ ptr_k_endline)
DO BEGIN

IF (.token [ptr_v_type) EQL ptr_k_comdqual)
AND .tg ken tp{g b nunbgr] EQL .nanbor)
THEN BEG
Las qual = ,token
cnt {_contcxt [é] = .block;
clintown [dcl_v_nextquall = true;
EHD URN"cli$_present;

token = ,token ¢ ptr_c_Llength;

END;

ctlSal,clintoun tdcl v_nextquall = false;
ns;u N cli$_absent;

0FFC 00000 .ENTRY gfhs

I\ 98 MOVAB  -68(

oooooo MOVL T%S

A0 9E MOVAB  64(R

A0 9E MOVAB (R

5 A 1 MOVAB 0(
g 1 ISTL R
18 BNEG 1

VAX=11 Bliss=32 v i
DISKSVHSHASTER fDCL.SRC RPCLINT.B32;1

! Verify all specified entities

! Then signal the error
! Return the status

! Until end of command Line

If token is a qualifier
and its our qualifier
Save last occurrence of qualifier

Set nextqual qualifier parse

Skip to next token

! Set normal qualifier parse
! Return address of token descriptor

95
729¢ 385

.~ 4263

4296

i
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; Routine Size:

05

[{3

58

58 000000006
00

00

210 bytes,

EC97
28

000000006

008C

—_mey MO

OB O~

59
66

00 0000064A
6t

6E

04
04
08
6

;
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Routine Base:

000000826

000310FC
98 000310FC

000000006
000000006
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s = o> — oo 00O 00O I oMY > O 2> 3

000000006 gg
000000006 8F

DCLSZCODE
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OO0O00000000
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SRRSIRSERE

OCOO0O0O0O0O0OO0OO0O0OODO0O0O0000
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1 -s.g-

A1S:

A 28:

H
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COODD
- 3 U

1984 00:26: VAX=11 Bliss=32 V
1886 ?g:igsig DISKSVMSMASTER: (D
MOV aooegc. RO
MOV 16(R0) . =(SP)
CALLS #2, INfTIALIZE
PUSHL §
ADDLS  #8, RQDESC, =(SP)
CALLS  #2, VERIFY ENTITIES
EE?S STATUS, 28
CMPL ;vpe. 7]
BNEQ %
TSTL x;vuono_Annavoa
BEQL &
PUSHL  #CLIS ENTNF
PUSHAB K?VUDRD_ARRAV
PUSHL #
Tl X
=g¥L 02605§6. ng
CMPL  (R8), BLOCK
BNEQ $
ADDL3  #12, (R6), TOKEN
BRB 6%
SUBLS #1610, WRK, TOKEN
MOVCS  #0, (SP), #0, #28, (R8)
MOVCS  #0, (SP), #0, #28, (R7)
CLRL (ng)
CMPZV 'i , #6, (TOKEN), #4
BEQL 9
CMPZV c£a. #4, (TOKEN), #0
BNEQ
CMPZV  #0, #8, S(TOKEN), NUMBE
BNEQ  8$
MOVL  TOKEN, (R6)
=8¥t %%ng’ éf &touu RO
BISB2 #2, ?ko(nsx
=g¥L #CL1S_PRESENT, RO
ADDL2  #12, TOKEN
E%SL E’Ls CLINTOWN, RO
BICB2 05. ?kO(aa) .
=2¥L #CLIS_ABSENT, RO

‘.0-763 P
CL.SRCJRPCLINT.B32:1
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4338
4339

4348
4349

3
i

4354

6527
4345
4360

438




S

LA TATE PR TR PR TR LR TR LA A A TR T A LA LA L TR L L T e e I I I I L s e I I I I T o ™

SESRORERSEIRLHS

it o e e ) el ) ) e b

= OOV NOWVE NN =2 O OO NO VS NI =D

w

00 0000 G0 0O Co OO 0o 00 00 0o
GRUK

3

NNNNNNNO OO

~N~N~
WOONO NS AN = OO0

v St

1
1
1
1
i
1
1
1
1
1
1
1
i
1
1
1
1
1
1
z MAP
END;

1 Bliss=32 v4.0
VMSMASTER

-seomions g0:ge g

GLOBAL ROUTINE dclSendparse (rqdesc, rqwork, rgbits) =

X=1
SK$

| [pp—"

]

This routine is calle
all command
which appeared on the command
way or another by the utility.

when the usor has contlotod
line parsing. It checks that all qualifiers
line were processed in one

]

]

]

]

]

: Inputs

i rqdesc = Address of roquost descriptor data structure

: rqword, rqbits = ignored

g Outputs:

f None

BEGIN

BUILTIN
PROBEW; ! True if location writable
rqdesc : REF BBLOCK;

]
! 1f clint own storage is allocated, then deallocate it.

if .ctls L clinto n NEQ 0

r! esc Lint_L_freevm])

REF(dc6 c_size), ctlSgl_clintown);
ctiSgl_clintown =

i If user mode WRK area, then deallocate it.
i lero pointer no matter what mode WRK area is.

if .ctls L_dclprsown NEQ 0
THEN IF PROBEW(XREF (psl$c_user) ,XREF (~wrk_k length)..ctl&gl dclprsown)
THEN (.r dosc Cin freevm))
(XREF (~wrk_k_Tength), ctl$gl_dclprsown);
ctiSgl_dclprsown = 0;
RETURN true;
: 000C +ENTRY DCLSENDPARSE Save R2.R3
; 380383886 3 MOVAB  CTLSGL_CLINTOWN, R3
0 6 MOV cthcL DCLPRSOHN. R
E C g SUBL #, SP
50 1 TSTL CTUSGL CLINTOWN

.0=7% .
2 b dsntSpcLint 832,

% 39
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4393
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: Routine Size:

04

60 0B7A
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T4

81 bytes,

50
AE
80
50
8F
50
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80
50

Routine Base:

T
90 gf
06 A
;
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6

1

it

“ i
0B7A gf
06 A
;
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DCLSZCODE +
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WSS

OV@M~NSHsMO

seo-iogs g0:aeete  yarcly munete vt

N
L

BEQL
MoV

1%
R$o£sc. RO
44, 4(SP)
4 $PS
820(R0)
CTL GL_CLINTOWN
TLSG6L” oc;rasoun. RO
§. #2938, (RO)
gooesc. RO
#2938, 4(SP)
4(SP)
#2, 820(R0)
CTLSGh DCLPRSOWN
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N 3
RPCLINY 16=Sep=1984 00:26: VAX=11 Bliss=32 V4.0-74 Page 99
V04-000 1e-Sep-1o8s 12:98:38  DIKIImSMASTER? Der s eSnmcL it 032, 7% (58
: 2 22} } GLOBAL ROUTINE dclSgetline (rqdesc, rqwork, rqbits) =
£
: ? W1e 11 This routine is called to obtain the complete command Line,
: 8 22}5 } 2 including the verb.
g Gl |
; BSi 4413 ] i rqdesc = Address of request descriptor data structure
3 BS‘ 22 ? } 5 rqword, rqbits = ignored
; §§S 22 § } g Outputs:
: 35? 4ok 11} The command Line is returned via the quadword descriptor
3 ng 22 5 } ; contained within the request descriptor block.
: 360 44 ? 1 Routine always returns true status.
5802 458 1
: 80 4430 2 BEGIN
: 586 443 5 me
; 329 22 rqdesc : REF BBLOCK;
; 2868 4435 2 LOCAL
: 2869 44 req_desc : BBLOCK [cliSc_reqdesc] ! Callback request descriptor
; 2870 &é rpw : BBLOCK cligs workaread, ! Result parse work area
: 28N 4438 req_flags : BITVECTOR (327, ! Callback request flags
: 87; 4439 token : REF BBLOCK,
: 3;4 222? wrk : REF BBLOCK;
: 2875 G464 CHSFILL (s.cliSc-roqdo c.req goss)- ! Zero request desc block
: 287 464 rog desc [clisb_rqtypel = cl7$k_ n1tprs: ! Set request type
: 287 L6464 SYSSCLI (req_deSc, rpw,req_flags); ! Init result parsina solely
: g;s 4445 ! to get rpw [rpw_L_dclwrk
3 444 wrk = .rpw Crpw_L_dclwrk]; ! Get address of wrk area
3 88? :22 token = wrk [wrk_g_result); ! Start at first token descriptor
; ; 44é WHILE (.token [ptr_v_typel NEQ gtr_k_ondlinc) ! Until end of command Line
: 222? DO token = .token ¥ ptr_c_length; ! then skip to next one
: 5 645§ rqdesc [int_w_entlen] = .token [ tr_v_offs!t]: ! Line length is offset to eol
: 2:2‘ rqdesc Lint_L_entaddr] = wrk [wrk_g_buffer]; ! and set address of input buffer
H 4455 2 IF CHSRCHAR (.rqdesc [int_L_entaddr]) EQL XC'S’ ! 1f Line is preceeded with ''$"
3 838 6459 THEN BEGIN ! then strip it off
: 28 445 rqdesc [int_w_entlen] = .rqdesc [int_w_entlen] - 1;
: 331 222 Eagosc int_L_entaddr) = .rqdesc [int_[_entaddr) + 1;
; 289 4480 :
: 289 4461 RETURN true;
: 2895 4462 END;




4
V04=000 1§Z§:821382 09:86:98  DNdimemAdteR roei PsncSrpeL Nt 032: 729 (189

- o ooig igcrav ogk ?ggkxngﬁ Save R2,R3,R4,RS : 4410
1C 00 6E - §§ ¢ ! nov?g #0, (SP), #0, #28, REQ_DESC P 4442
€& AD 94 CLRB  REQ_DESC P 4443
SE DD PUSHL  SP : 4bhd
# R ERE e :
000000006 g 0 rs CALLS n§.° vsicnx :
08 A 3 MOVL  RPU+4, WRK e
0 F9B86 i MOVAB - g1oin1) TOKEN  bbé
04 60 4 g ? 9 1% gg:fv 5 , #4, (TOKEN), #4 P 44l9
50 gg ; g agng 112. TOKEN ;4450
52 06 AC DO 28 MOV RQDESC, R 445
53 01 A0 0 2§ EF 9 exv%v pg. e f(rox£u>. R3 ; .
83 A§ go f MOVW  R3. B8(R2) ;
E & F492 (1 § 43 MOVAB  =2926(R1), 12(R2) ;4453
24 0c 82 91 00049 CMPB 312¢n2). #36 4435
1; 04D BNEQ % ;
08 A2 B 88" DECW  B8(R2) 4457
0C A os si INCL  12(R2) 4458
50 01 8 0055 38 MOVL #1, RO 4461
4 00058 RET 4462

; Routine Size: 89 bytes, Routine Base: DCLSZCODE + 146F
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97 4463 1 END
3 98 44 0 ELUDOM
PSECT SUMMARY

Name Bytes

DCLSZCODE 5320 NOVEC,NOWRT, RD ,
Library Statistics

File Total  Load

_$2558DUA28:[SYSLIBILIB.L32;1 18619

COMMAND QUALIFIERS
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-s.p.

Attributes
EXE ,NOSHR,

mbols ==e==e=ee

Percent

0

p-198 99:98:38

LCL,

Pages
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EXTRN LIBSSIGNAL
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Time
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L SRCiRPCLlNT.B!2:1
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Size: 5049 cg’c + 271 data bytes
Run Time: 1:37.5
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Compilation Complete

o 1)

Ri
V(



' 007“'HH-13iSE' AR TAL E 'ENT CORPORATION
- = VAX/VMS V4.0 e Teeae: | L AND PROPRIETARY




AH-BT13A-SE

TAL EQUIPMENT CORPORATION
VAX/VMS V4.0 I

DENTIAL AND PROPRIETARY

f




